Caugped

dodde ... V0

(PRONOUNS) yilowd Jgl Jad.....\Y

pled glgil L. Y

Subject pronouns :Jeld ples 3,5, ..... YA

Object pronouns :Jg=ie pled 3,5, ..... Y\

POSSESSIVE ADJECTIVES & PRONOUNS Sk plous 9 Gléo ..... vy
REFLEXIVE PRONOUNS : iS5l b ¢uST plod ..... V8

On the TOEFL® Test ..... YV

J=8l glej .. v

Simple Present Tense :00lw Jl> Oloj ..... v

Present Continuous Tense : g 0wl Jl= Gloj .v..e \rg
Simple Past Tense :60lw 43S Oloj ... vV

Past Continuous Tense : | otwl 42535 Ok ..... \nY%

Future Tense will :esbw ouisT olej -.... vV

be going to L ool oun] Ok -.... YA

Future Tense (to be going to) ..... YA

(to be going to) ¢ (will) : 63,5 slaciglds g lad,syS ..... YA
Future Continuous Tense :g|yoiwl 00T 3lej -.... ¥
Present Perfect Tense : s Jl> o) ..... Al

Present Perfect ContinuousTense :g )l iwl JoS Jl> Oloj ... Al
Past Perfect Tense :JslS 4isdS Ol ... FY

Past Perfect Continuous Tense :g ) yoiw! JolS diidS Ok -.... FY



G 9 CuSIle bl e Vo
Weigh J=8 .... V¥
(PHRASES) whls :pgus Juad ... 1oV

Types of Phrases : S5l 0b) 35 Ohyle gleil oou V+¥
Noun Phrases :ow! Oljle ... V- F

Future Perfect Tense :J»lS oun] Ol ..... g
Future Perfect Continuous Tense gl yetwl JolS 60T Ol ... Y
.On the TOEFL® Test ... F¥
(The Passive voice) ] daz )3 050 9 3blo :sgze IS ... v
Y disé 1alize slgile) 55 Joazwe =8 ... Fv
Y di5é 1alise slaile) 53 Jsgome Jlsdl ..o FA
Jsgzxe 9 polne UMez dunlis ... FA
Present simple :00lw Jl> ..... 4
Present continuous : )l eiwl Jl> ..... £4
Present perfect :(JolS Jl=) L& Lole ..., 0
Past simple :00lw § 42535 ..... -
Past continuous :g)) yeiwl g 43S ..... 0.
Past perfect :(JslS 4335) by ole ..o 0.
‘Future ‘will ;0007 ..... o)
‘Future ‘going to :ounl ..... o)
Modal verbs :,SwS Jl=dl b oun] slagle) ..... o)
Lo Cawd 3 LT 9,05 0555 9 LueslSSl O3 ol Jlsdl b lsT ... 08
dolé L85 usy Ol Ol sl dy g dolejls |y 395 lal ... 0l
eSOl 3L G5 s Usd Lol slalJ .. 55
shae Gile ke eeeee £
Wl Usd Wiz 0y 45 9 6589 Lilzs .. Vo
On the TOEfL® Test ..... W
Forget, Remember, Regret ..... A
(Subjunctive Verbs) :9cS5loule Jlsdl ..... AY
(It clause) SleMbl 5 ouude Oy ¢l W3 Jsbb b g oyly dlos ... AY
1 wealSS1 lsj g0 Jlodl glgdl ... AY
Gy J=dl 0,8 (ogas 53 wae slee 4S5 .. -
a5 Gus =81 5,008 p9d Lo < ay
Causative Sentences :uw Moz ..... 1
:
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Determiners .... \+

Verb Phrases : =8 Olle ...V

Infinitive Phrases :g)las Oljle ... V-

Gerund Phrases :g)bas pwl Shle ..oV

Fixed Prepositional Phrases : 3Ll Olhls ... V-

1eSad Gdlal Gl glgil Lol

Fixed Prepositional Phrases :uSué d3lol (g, LS, :Jsl 09,5 ..ou Ve
Fixed Prepositional Phrase :(uSé ol OLS,3 1ps0 09,5 ooon Vs

Fixed Adjective Phrase :0lio (uSd OLS) tpgw 69,5 eV »

Fixed Verb Phrase :43L5) g,e b d=d (uSd OLS)5 pplaz 09,5 -V ) s
Prepositions of time and place :)5e 9 Olo) 0 bgs o ddlo) B9, ouu VY-

L > Y Y Y © © ©

Prepositions of Time :(jlo) ddlo) g, ... V)
(Prepositions of place) :(5e ddlsl Bg,> ... VVY
CadS 9 Hlude 9 Ole) 9 OSe b gy e dilol Bgyo OLS)3 plw el VIY

On the TOEFL® Test .... 110
Exercises on Prepositions .... \Y+

:Exercises on prepositional phrases .... \YY

(SENTENCES) &\lo2 :p)lg2 Juad ... 1YY

(Simple Sentences) :o5lw oz :Jgl (S .ol VWA
(Compound Sentences) : S o Odaz 1095 Gl weve VWA

G dlS SOy Bgye ogas 30 O ple .l WY

(later, then , next) : o) glo w8 b Jayy Bg,s Giglds oo VWY
Gy Gud OIS 5o (Punctuations) g))dS dhads uslgd ... VYV
Moz s (Nevertheless) jols (idoasily 5 8,8 ... WV
Moz o (However) 639 idsaSSly g 9,0, ... VY7

Sl 4alS 93 by B9y ve VWV

Complex Sentenses ouuzxo Odas pguw Cud .oun VWA

On the TOEFL® Test .... \¥4

SUBJECT AND VERB) JsB U J=d 3ali :ommiy Juad ...\ FV
(AGREEMENT

Jsl ousls ... VY
9o ousld ... VPP

pow 04 ... VFA
CSye Jels ool VFA
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Sl 3929 b Cudgmge yu uSL Cyge o ((There) 13,5 ...

Wo.m@
It + to be + that ( slusy Oley g9y » WSB) ...

«( 40 ) @M oueld ...
(o )by Oledb) &yl g WS ) ...

( S ) M oueld ....
On the TOEFL® Test ....

(CLAUSES) (W dylg dloo) :puinds Juad ...

Types of Subordinate clauses : =3 sla(3)S) oyly dlos glssl

Noun clauses (ol slo NS L oyly dlos) ...

Wgd (0 8958 by OLlS b &S Lowl oS ...

Lgd (0 g9, (Whether/if ) SledS b oS Lowl g3¥S ...
Lgd o 9,4 (that) b dS Lewl LIS ...

Adjective clauses ido glo 3 L oyly das ...

(Who, Whom, Whi ch, That, Whose, Where, When) Jsoges plod Cowcd ....
§ e 0 IS b o Golds ...

o Sy ) Jsose pled 955 ...

o sloi¥S gloil paass uyy e

who Jgoge i ...

whom Jgoge jasd ....

which Jgoge puaid ...t

That Jgoge yuasd ....

whose Jgoge jaids ....

where Jgoge jnids ....

whereby (Jgoge s ...

when Jsoge yuoid ...

On the TOEFL® Test ...

Omission of the Relative Pronoun _ibo g)Ms gilw paisne dslsd ...
(el (8 b Jyoge e Gis (W) ...

i dsmie i b Jgose et B (0 e

saze (U L) oo sads B (g oo

On the TOEfL® Test ....

(Adverb clauses) i3 sl o)y dos ...

VFa
VFa
\0-
\0-
\0-
\0-
\0)

AIAR

\y

BRRYE
150
V55

VAN

-
-
3\
3\
¥

ves
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Adverbial Markers (89,20 48 glo,SHle ... Y48
On the TOEfL® Test .... ¥\

"Ghog S " b gud ) 1 auS oguds ..l VIV
Participle Clauses ;809 (Slo Juwwdsl) o M ... VA

On the TOEfL® Test .... YYY

(NOUNS) solwl :@idn Juad...rry

(Countable Nouns) :jisleds JoB Lelwl A ... VYV

(Countable) Ji)lod b8 Lelul 290 53 pe OIS Loul VYV

el s goz pgas 53 SIS LYY

(Non Countable Nouns) : jssless LB ,& olwl B ... VY-

SIS 9 o4 OGS LYY

olwl b olpes Linleds Slao b SldS 8,058 L. YYY

Compound Nouns (sl 95 5)3) <Sye olul o000 VYO

(Goled LB ,2) Golel $ln Gioled Glo dzly Flisd adys onn TYA
(That)(Those) / (One)(Ones) : plos o350l b ol LSS 3 IR LIES At
On the TOEFL® Test ... Y\

(ADJECTIVE) wliio :pilid Juad ... YO
eSSl 0L 5o Sl L. YO

Olao glgil 99,0, ... YO

Absolute Adjectives oolw Glao (A) .... YOV
Comparative Adjectives _L.adi Olao (B) ... YOY
Superlative Adjectives _Jlc &lao (C) ... YOV
Coordinate adjectives Glao gl 9 duolde .... YOO
The Double Comparative (9> Jwadi Oldo) ... YO
( 'The + Comparative + Subject ) , ( The + Comparative + Subject ) .... Y07
ousld s slbud § Gldo ... YOV

§ Co b U3 Hfirst dalS ... YOR

Adverbs of Frequency ,),55 gladid ... YO

(Recently & lately) :JolS Jl> 0319 Oloy 4B 95 ..o Y7

On the TOEfL® Test .... ysY

(ARTICLES) iyysi Bgyo :0gd Juad ... Y5V 4
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(The) gu=e i, By ol g5 oo YEA
On the TOEfL® Test .... YVf

CONDITIONALS by llas 10 Juad.. YV4
Zero Conditional ja0 § 85 b ... YV

Type One Conditional Jsl ¢ g3 (b ... YAY

Conditional (V) Type ¢9 ¢ 95 bs ... VAY

Conditional (V) Type pgw ¢ 5 (b ... YAY

Mixed Conditional (wS)3) wSus 95 b von. YAO
(Future adverbs) ... Jeld + 4335 3 e.\.:J + Type (A): I Wish .... YA#

(Present adverbs) ... Jelb + odlw 4535+ Type (B): I Wish ... YAV
(Past adverbs) .... Jeld + JolS 4335 + Type (C): I Wish .... YAV
{ must / might / should / could ( + have + PP) + Jeld } ....YAA

On the TOEfL® Test .... ¥4+

PARALLEL STRUCTURES :‘o.bdjlg d.naé .. Yao
(ML) Glee slaylisle gl ... ¥R0
On the TOEfL® Test .... YaA

WORD FORMATION :023jlg0 Juad .. Vo

Verb Suffixes :jlw J=d Sladigun (A) ....¥Y
Noun Suffixes :jlu ol gl Wgus (B) ...V
Adjective Suffixes :jlw Cho glo gy (C) ....¥+¥
Adverb Suffixes :jlw 3 glowigus (D) .... ¥+ 0
Redundancy :OldS 3La) )1,S5 b giis ... VeF

On the TOEFL® Test ....Y+V

WORD ORDER :@ldjaw Juad .. 1V

Part A. Inversion .... Y¥\Y
On the TOEfL® Test .... ¥\§

Part B. Other word orders .... VY

‘ On the TOEfL® Test .... ¥YY
2 Other / The Other / Another &35 dw plod 8,355 ... ¥V

So, Too, Either , Neither guwli 558 5,5)5 ... YY#
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Like / Alike / Unlike 4olS duw glo Ciglas ...
Reporting Verbs (é)l35 Jl=d | 5,55 09 ...

The same as / The same o840 ol 55 glo wolas ...
On the TOEfL® Test ....

Yyv
yyq
Y

Yy

¥lguw enylee Juad  L.WPD

(S50l s i il pole (L) pole Oylis slodidy 4lS G583 wal,S OYlsw gl 0393 ...
(S50l G (oige il psle (SLudl) pole Clig slodisy S G753 Hal,S CYIw psd 0)93 ...
((S30005 b il psle (SLudl) pole Oplig sladisy S G753 IS CYIgw pow 0393 ...
(S50l 5 (uige il psle (L) pole Oylig Lodidy 4dS G583 5,5 CYIgw pylaz 0393 ...
(S50l G (i il psle (L) pole Oyliy ladtsy 4uS §55 1ol Vs ooty 0393 ...
(S50l A (uige il pole (L) pole Clig ladtdy 4lS G55 1ol Vg o 0)93 ...
(S50l i (e il pole (L) pole Oylig Gl dtdy 4ulS G55 jal,S I5w e2an 03 ...
(S50l G (e il psle (L) pole Oylig Glodtsy 4ulS G585 ol CVlsw et 03 ...
(S50l i (uige il pole (L) pole Clis ladidy 4ulS §555 1alS OVIgw 043 0393 -
(S50l i (i il pole (L) pole Oylig ladidy 4lS G55 1l CVIsw a5 0)93 ...

(S5l A (utign il pole (L) pole Clig Lodis)y 4dS G783 Hl,S CYIgw ea3l 090 ...

(Mhle ,MSRT ,MCHE ,TOLIMO ,EPT) lgiga)l I, C¥lgw Jsl 095 ...
(Mhle , MSRT, MCHE , TOLIMO , EPT) glaigail 5o,S O¥lgw p3 0380 ...
(Mhle , MSRT, MCHE , TOLIMO , EPT) @lgiga)l 1l,S OVlgw pow 0393 ...

(Mhle, MSRT, MCHE , TOLIMO, EPT)slgiga3l o), s pylaz 0393 ...

(Mhle ,MSRT ,MCHE ,TOLIMO,EPT) glgisal »ol,S C¥lgw ooxiy 0)93 ...

(sl Cag) VFe v Cuilagy Olis 6555 0L Ogajl oo
(p9d ) VF+ - Cailug Oilis @53 Ob) Ol oo
(pow Cagd) VP Calug Olis @583 0L Ogadl ...
(mlaz Cagd) Ve - Calag Solis @53 Ob) Ol ..
(2 Cagd) VP Calag Olis @583 0L Ogadl ...
(sl Cagd) VFe) Cuilagy Olis 6555 0L Ogajl oo
(p9d ) VPV Calug Ol @583 Ob) Ol ..
(pow Cagd) VP Cablug Olis @583 0L Ogadl ...

Yye
ye
YEY
\na
Yoy
YOO
A
Yy
Yev
YV
VO

Yva
YAV
Ya¥
£
Fea

IV
FY
FY0
Fre
Py
PV
FF
PRV
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il plol a0 ot il ol oy 53l 2515 0lyd a3l 03

9 laylis b oIl 5 0lgy oS Jd sl Sl (2050 9 Bras 9 pol> (o b yols LS
2558 Loy B 45 0iS, o3 (Fglis A0 o 2550 53 S50t Lo ]y (eSSl 0 51,8
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SlS ol als 15 0)8 1o 3L 5y90 (gy0lS v lio aS dloyts B0 1 phs j Lo ST
Sl o QLS5 ol sla s p blus b hadd (ollogls jo a5 6)sb & sl oy yasuie
Yelogas 4 blus ccutliny by 6355 cumlbogh (sl sliolpio & duup 395 Ban 4
9 0yd Vo dgd> pole iy (6383 cpallogly (sl (Jg S o0 coliS QLS Calin sl 0oy
Do dalllae tunl GlS woyd Voo S5l b5 (glavdiy (6,585 g Ayl cpdboglo gl
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dodro

@l g oy slacas) 4y i 5 o LSfly S8 (g 45 blsisl ol litnula
olwlicdgly gaselas g JolS (LS jl ylas 2 logle Jlo ey g o 33 o
55 2 53 ystite ol 5 yliigs b o3 byl (gylyBye 03,138 o iwles 4 (full-fledged)
ahai &S’ sy oo lolS 4 Lo Liles (3L5 2 J5 )3 el sl pusd b o 0 BSly STl L
Bgranlyd by ol eslis ule]

oy s ding dod ;3 ool 9 )81 ioduze 5 iy o )US )3 08l 85,8
sokate olo g eledbl Jnl 2,8 o JSib wlblisyl g 15,8, 0 Jlinl BB (suil g Jls caniiS)
S50 0435 39290 gt 33 5 sl s £.93 by (3Ll sla Shag 51 SUIGs Sloj Aigg s 5
b3 skl g ()55 Jgol )3 jslateds 1095 cad 045 (S3pS 9 byj iz L ool
el Jod oy Yoy edlio e gl el 5 (bl ey yol)S (590T 9y alas ey

® Word PN
® Phrase Oyl
® Sentence dlas
® Clause dlasdid



(Words) Qs ¢

Wl g0 4ol S 58 0 4alSTy )b 53 ydie ol 40
Sy e ddliolByn Sy eciypad Bya el S o b S
she prois Jlto oIt ds . AB cabuo S b sl it e,
dolS calio 3)lg0 (colad 9 g0 b L the cyui Sy b g
Jbl 5 polod gy & Jgl Juad )> g o0 ool
 baaye Jguad jd wlalS il 3)90 50 9 810y wunlss

55 ulss 1 3 (sl 5901 Saio Lo



(Fpaise 5 ploy 3lag) ()50 Sual o wiwn JlalS sl jlows obj & oz [
oy 83 15 Jlio 43S oo (5psSolx Lo 5115551 5 X9 00 ol (Sl

® Mickel is coming here. Mickel seems very happy.

® Mickel is coming here. He seems very happy.

) (50 455 0 oo Ly o) il o 313 JSolo @ ) (50 455 @ Jlrdigs (s JSlo Lzl Lo 315 JSolo v

33 caSle 2L 3K Ao pmio s Jels ol 3 85155 0 ol Sy 452 4 a3l
13,10 945 9 Foliie plos oLy g la s (ol 51 Sy (glys 1) 035 IS dlas

2y3loud glgil

® Subject pronouns slebd plas
® Object pronouns J9=io plad
® Possessive adjectives X ©livo
® Possessive pronouns o palass
® Reflexive pronouns 0SB plass
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Types of pronouns s ¢l

) ) Possessive .
Subject pronoun | Object pronoun . Reflexive pronoun
adjective pronoun
| me my mine myself
you you your yours yourself
he him his his himself
she her her hers herself
it it its its itself
we us our ours ourselves
you you your yours yourselves
they them their theirs themselves
1B yuloud oplS
< Subject pronouns
ﬂ I, you, he, she, it, we, you, they ﬂ

g 3w b ‘jw)ggla Ogixs (e yuos 51l JelB ol 45 dlon (4950 ﬁ‘”')f‘ :Joloasd
® The teacher always gives the students homework.
Jels Jsmise

® She/He always gives them homework.

Gl e ke s
2350 iS5 T @ adisad gl @ .J230 @ulSS ()ljgel Gl @) ddised alse v
J&l&d&'b&w c.\‘gb‘gda.érogabl&léjl.\ag;hbgﬁuo dglilo w2 b dlos 92 d:.lsgég FIFPREIL]
ol 5y Jod 5l 00l S5 Cyluns 290 g0 i3 (Jyaite S &1 yras Cyguaiie] i 53 0
tdatloyd an 97 Jlho . Caw] poond § 99 D3] DUKIS (ypant ¢ 09
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(pronouns) julas //Jgl Juad

® They are more protected against the cold than we are.
® They are more protected against the cold than us.
Lo jl sdins Lopw 2o 53 lg3T @ Lasgdnse bo o5 (g )lade ) Cound Dgidso Cblis T lopw Jolie 5> 3T v/
g 50 Cublas

(548 S)lobg (Jgo50) (Jgose snao b oS dlo 93) bt gyt g il Jollb & Do 5309000018
9 I3 2l & bgspo Ol gd) il o pra S &0 b L Jold il oy Juctio ot

(aloiy antliae Lo |, Juad 53 1) 5 sl S)le
® They did not know that you and | were close friends.

Jsose Jsls Jes

® He leaves after they return.
Su3 Sk Jelb

.39}UolyTC~h§jl;j|An49| ) .wwom93m9m6mbwl@ﬁ/

IS 53 1aitd gy Lol .39 g0 03] e puaus 1 (Formal) cowwy jUis b y3: 0, lga pac 3
Dgs (o0 03wl Sl a0 o (Jg2i0 pews I (INfOrmal) gouw, pué Cls 134 (5,85
@ |t is he with the bag in hand.(formal)

® It is him with the bag in hand. (informal ,lis3)

® |t was they who made the decorations. (formal)

® [t was them who made the decorations. (informal ,lis3)

® |t was | who always supported you. (formal)

® |t was me that always supported you. (informal ;i)
Clam 63 jl aied oS S T @ .1555 cun)d | Olud 5 a5 1539 3T ol @ .l gl 315 cuwd > @S oS (T v
10392 00 250
(than, with, for, of , to, after, on, without, by, ... )AL a3l Bgys aulS 5l axs 1 ooty sucld
r e . (F Jaad 55 a8Lio) g ya JolS Conmn)) -39 03ikun]  Jyite o 31 b Lo
® He is going to the party with us.
® They were preparing the birthday party for her.

03,5 (50 03kl gl (gl 1) Vg cpine 1adl> T @ .39, (50 (silago @ Lo L gl v/
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a0 § 95 03] BUSS yan 095 W 3 dry Jxd 31 00w cbir (4l 093 848 3 4S yglailo 1) 4SS

b o9z by By comiead s a0 94pke 9 0392 g I 93 5 rd gl JLko 131 .l

dlyed JEBL wly (e 4 Jol8 T jlin a8 315 ol 0 (Kiwy (@S OF than ) 347 8L Sy
rJbie . il (Aloay) JSb &y s Jad b

® Sheis not as tired as | am. (boyy By yiudi | as)

® She is not as tired as me. (a6lol o> i L as)

® They are more powerful than we are. (b woy> i | than)

® They are more powerful than us. (6Lsl by Lindi b than)

® They paid us more money than we needed. (o) wby> yidi b than)
® Their behavior were more badly than we expected. () wy> Jidi L than)

(o) & 3p)5) . Cumd aims o 0j1351 @ gl ® (awy 3)5) aiwmd U,ofck./.q.«._a.l Guns (52 2j10] @ ol @
® ((5am) pa& 35 5) . X 54303548 Lo jl Lg5T @ ((sauw) 3,)5) asiund Lo a5 Xiduud (g juz o jI )5 210345 T @
@l WD) Lo a5 392 (gjuz o jl 53 3T )58) @ .165515 Joo Lo @y aaiidls jlis bo oS (g juz o jI i LoT
oy 33y (Slire o 9 1> (ALLI LBys (Glixo o (a clidomnd o2 limo A o' JLalS ) dry o T ST
(‘but) 1 Jlo oslgizs .39 oliiw! Jorio mondd 3| b Wil 51 sz ddlis] gy ryguo s 03l
9 oS 03Mkul Jgrho o b o 51wy g T (0 s & ALl B> (il i 4" dmo &
tdle .l oo dlo ] 31 drs g ol dagy By (b "Lol" _izo & )51
® Everybody went home but (except) me. 00 j= @ aili 438, aad

® Everybody went home, but Alex stayed there. bo LT (ST Lol el 1338, aod>

Ao ¢ylg3 (oo Lol Dgds (o0 ALgH (G yguo Ay dlos 3’9»! by, Gy iU (‘than) jlas of 40
e Caligh 355 (00 osSnn b ) Jlges Sy 01y
® She speaks English better than her brother does. 18 (o cumio w8l Goysl jl 5er ol

® She speaks English better than does her brother. .8 (s cumio GuwalSl Goysln jl e ol

® The new drugs produced better results than drugs made 10 years ago did.

® The new drugs produced better results than did drugs made 10 years ago.

03,5 szl i Jl o Gl (g ls @ Cumd (5 g2 2 iz gl v
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On the TOEFL® Test

1. The young emperor penguin stands in front of one of it parents
A B C

to be protected from the cold.

D
2. Sometimes penguins slide on their stomachs, pushing itself with
A B C
their flippers.
D
3. Under the feathers is a layer of fat that it protects the penguin from
A B C D
the cold.

4. The penguin chicks cannot go into the water to get themselves own
A B

food until they have waterproof coats of feathers like their parents.
C D

5. The narwhal is the only animal in the world that has a tusk on
A B

only one side of it body.
Cc D

6. Silver is too soft to use by itself, so it is mixed with another metal to
A B C

make themselves harder.

D
7. Most slugs and snails breathe using a lung which opens through a
A B
small hole in the side of its bodies.
C D

8. Every fuel has their own particular temperature at which it begins to
A B C D

burn.

9. Harriet Tubman, she an escaped slave, led more than
A

three hundred slaves to freedom on the Underground Railroad.
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10. Dreaming, like all other mental processes, it is a product

A B
of the brain and its activity.
C D
11. Snails produce a colorless, sticky discharge that forms a protective
A
carpet under them as their travel along.
C D

12. Enzymes enable the smallest virus to enter cells in order to
A B C

reproduce themselves.
D
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Cao ¢ JgRb0 puoid Sl> 4 &S g 0 4> gio (Ao pogio 4 4>55 L .(O) 40jS ) Jlguw gl @
S a3kl (Jg=io juoid jl Olgi (god anl il Jud sunlod E85 594 5 latwl b (its) (o

Ly glol 3 Lojus 1 65 Siawnlizo gl o 13 jsbol ol 35Sy azy v/

&> D90 4 b (Sdo Cids 45 €b)d lgi 0 o> pogio 4 455 L .(C) 4jS:F Jlguw &b @
b b bl @b (penguins) Jel L b 54 o 5licw| (themselves)

A3 U5 sl @ glinlaal L 1) Glbdss 9 13550 pb olineid (59) B05eKhy @Blge 20 v/

ey (1) e jroud 4 (5j L. 1> Slol Jelb dlax .(C) 435 :¥ Jlguw sl @

S 50 Cabiblo Lojun jl 1) 565 oS Cumd oy jl gl o oy pj v

ol Sl @ 9 2aubaslaiwl slasl &) g0 4 (themselves) 6«\5b)w0 (B) 45 :F Jlgaw &b @
-2ib (thein) Sdo Cado 2L

Ol g asds (j5) 3T 6o 5 539k Cumd ey 1) ) Liddg (g1 oS Wigd T 3)lg wwlgises 1565y sz v/
A9k il OT L6 soasy

1 23lisul (euiS g0 25wl (MYsyour/his/hersits/our/thein Sk wlis j1 OWN) IS jI s 1455 <
:Jbe .l lade (OWN) I S polows poliw

® myownhouse P3g3 oS
® yourowncar i3S uible
® herownroom ubags Bl

body sl jl Ju (it) Js=ie peed 315 gl Jlgw sile dhaz 52l )3 (D) 4isjS :0 Ulgas gl @
b (it9) Sho o 3L T (5l 45 <3940 03 isan!

I G )b 3 (hoj)zle K2 oS al lez > loss i 25 Kig v/
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b5 33 bl 3,28 0950 b g wuitd oy pleis dm Lol 31 de ooy cpdgl 4 Jgl Juad 3o @
by moilosien Jladl i cololS 31 de gooans) (a9 & i o2l 3 b LT alS 1
45 palyi LsT LT 0,0 095

309050 Bauaall AL 9O s Sl b 4o Jledl

IS o st JUal i3 o Sty LT 749 51 o (i sl 35 JUadl 251 08 ol 05,5
Dgir g0 45l (€) g (3 oir 43Lio1 b T Jgrio ! b Past participle (PP) JSib yobo puod § 4 48
da0yd A4 31 e A I8 Sl b s 6y D94l o0 4135 (Regular Verbs) susBU Jladl Lyl 4 45

s g0 83li] () £ 18 3l 1 panalSH 5 JUS!

awl (J25 pow JKib L Jo=ie awl) glad Past participle(PP) jI jgliio

0t L8t JLadl Ui o oSt Ty (oo ST JLadl 51 dioyd Sy 51 e 45 95 095
T Jgnio panl g s I8 JS g AS 03 59y (€D b B9 b 51 izy kit (Irregular Verbs)
Nigain Bés gl | g Gl 248 o



GRS Ybj GSxdu slaygojl olug soliS slawy)lgo g Jguol

Regular Verbs
Simple Present Simple Past Tense Past Participle
Tense
walk walked  »jpu3 walked  o0j pud
study studied o,S asllas studied 05, axllas
type typed Sl typed o35S ol

Irregular Verbs

Simple Present Simple Past Tense Past Participle
Tense
begin began 35 Eops begun 03,5 g9
find found 38 la found 03,8 lu
eat ate 39> ate 03)93>
break broke G broken A
Carlaw 31y ol daonts 5 Lo Bl ymondd Jlad! sl JolS” Cnnsd 4 it 9 3l 1 5

utlod lads g 3Uls www.rmohajernia.ir

Ji=dl yloj

oy (442 b st oS5l ol 3L 3 30 &S s oy B b JWebl yloj o guas 5
Jb 1l 50 555 yloms 2 851 155 g0 48wl 0 A2 IS & bgye ¢ loj it sl 0)lo 5929
)l g eglld s Sloe 4 bgype o conl b (loj digg ¢ silej ity 1209 -39 Joli ]y
@ bonye (loj iy (noge g M i plasil Jls )3 b 3ol o0 plsil (S9iS alaod 55 &S ol
i diales ploal oo b G odinl ¢lej yo S cuwl Jladl g ba e Jlad

1\
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9 g0 00litsl 4280553 0] Lo i pU s o S0 (loj iy S el )b 2 421 @
ol g g 4 gozee 125 9 2,145 3929 Jitus 5y 900 o 42815, 042 g Aty syl 0 50
($3)90 9150 ppo s (gutms (sl Juady> a8 out] Sloj digr o gad 0 il e s
(o et dlio (olbdegoro 1j Jold (loj sloding ol 1 S5y 3905 pudlsd casno

a3y (o] Jol5g JolSe ) yossl cooli) edls o Lo (loj dig y2 5

J=d cJls J=d Sl g
&lyosaal Lol oS | olyerwl | oolw a8 4 bgsye Sloj dsgo
Solyosaal JolS | el | ool Jb & bgye Sloj asgo
Sylyezasl JolS B | el | a0l suil & bgsye loj digy
Syl JolS JolS | el | ool | azdd8ys sdil 4 bgsye (Sloj axeo

o8 900 41 (i 3o s 13 5 oD Juad (D ki) bl digy ) bgiyo 0loj Yl ) 4 5
(- S2lg 2315 5900

Lascie Bsd enls d dangilcd oy oanled 399 slesle ol 51 S 2 vy s dsldl yo @
Lo gol 3 51035 3521850 lilej ol 51 loj Vo lets ) aS eyl 392 g (ourlSSl 01 )2 1loj V2
leploj ymlos D903 madlyd 0yl Lol s dolsl 3> 48 Wittuuds I 9 Ew Dyg0 sy (55553 g Ay

g g0 03l eSSl b5 ilordl g Gyl g (0l gie yd it
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dolwJlo ulsj
= Simple Present Tense
( sabus Ja e JBaLa (5 (Jeld + Jab ssbu JS4) )
I run every morning. Pose o oy B (y0 eole Gypo b Jos SO
Thesunrisesintheeast. WS gslb (5,8, duityss WS cdds b casdly S
The ticket office opens at 9. syts 5L 9 cclu o b a8 | S5 0dilyd (WSd oy (yloj

oS 00lisn] o035 sl @By s oyl (gl sokes Jb yloj 3 pudlyse aSSyg0 4o 4l @
& byye el L tonight J2e) wyes )6 alas 3 5 ouil s bgsye Sloj eylie o b Lazs
Loy 403l 5 2958 b g s Jobusg Sy (siileg & bgsye W ctlos ol 5 (3j g

: dl.’-‘.o RE iy rv.u}‘).o AT 0599 ¢

® The school term starts next week. Wgd o oyl o] A jl dwyde
® The train leaves at 19.45 this evening. WS o CSy> pac joyel 19.45 el lad
® Lunch is at 12.30. Don’t be late. oS5 23 e 12.30 caelio , b
® We fly to Paris tonight. coS oo Sl oy 4 el

1Sylpeiwl Jo lej
%« Present Continuous Tense

ﬁ J<@ + (am/is/ are) + Gerund (s ing Jz3) J

Mary is watching TV right now. Cuol plosl Jls o (1eiSTon oS Lo
I’m training for the Olympics. o0y ol 55 o iy dobip oudlad
I’m going to Sweden next winter. oai] 3 0ud WS (ola ginydeliy
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e On the TOEFL® Test  «------------oommemooaae

On the TOEFL® Test.
1. The word “olympic” ...... from Olympia in Greece.
(A). comes (B). came
(C). coming (D). has come

2.In A.D. 394, a Roman emperor ...... the Olympic Games.
(A). has abolished (B). abolished
(C). abolishes (D). had abolished
3. The French educator Pierre de Coubertin ...... that the ancient

Games be revived.

(). will propose B). proposed
(C). were proposed (D). propose
4. The Olympics ...... every four years between 776 B.C. and A.D.
394.
(A). took place (B). have taken place
(C). taken place (D). has taken place

5. By 1790, rice ...... an important crop in the South.

(A). being (B). has been
(C). was (D). was being
6. Weavers are social birds that ...... complex nests housing
hundreds of families.
(A). build (B). are built
(0). are building (D). built
7. The American dancer Maria Tallchief first ... ... prominent in
Europe.
(A). to become (B). become
(0). has become (D). became
8. My father..... 1l ..... the last two months. That's why I feel tired and
depressed.
(A). was/since (B). was/for

(©). has been/for (D). has been/since



pow J29 9 Jl> Oloj jl (gwnb 130315 o)Ll JS cunmBly SO 4 o> . (A) 4055 o) Jlgw gl @
.3 o5lawl olympic 3,é0 Jeld b cuwlie comes asuis
.JgTL,.o L_I:I:.OJI 181N (aalS ))j! v_f._x._'!.a.” aalS ‘/

s oyl Gasuie 438 Oloj s o 4 Aoz .(B)4ujS:F lgw b @

3505 & guio | Sasall Ol lune 5551 ol S Mo jl a2y Jlw FAF )3 v/

W o)Ll Hasuine 438 Oloj )3 os 4 Aoz ancient 4olS 4 45 b . (B) 43S :¥ Jlguw gwl @
Cawl 23wy OLL 0 4038 Oloj Olo > 4S

Xigdn (55570 ©lE3lune a3 315 Slgidion (3P0 w0 (somild ipe v

Cagz -l p)liol oo ))ST 4 35 )5 Juolgd b 1)Se S Jos @ doz .(A) 435 :F Jlgw b @
Jedl iusw 4 Juad sl 4 be revived Jzod JSub 9 propose Jeb jogas )3 pge OIS
lopy 422 hho iS5l b

b0 IS 3o jl a2 Yl FIF 9 3Wo j1 5 Jus Ve 2 )b s ¥ 0 Sisall v/

55 a5 53 (gl ynsl by Jos Sy 0lgis 9y 0T 0155 (03 Lol 29t g0 ST AL Lo 53 b 53 JolS J ol 3 s 4350

o glite oSl potanl b 41,55 5o 45 albl AL 33 53 &l 53 Canwl 8041 1,55 ol )3 &S Conol Los 4Sb

Sl b)lai:l%}f))g»aﬁc&.oij&))éﬂ@)b@'@)bﬁ@dﬁ?.(C)‘t&g}f:bdl,wéwl; 2 2

392 09z > (sage Jgazo g5p Wie Jlw 5 v/

| (A)@}f@.mo Eb 1M o)lal (b Cumly SO 4 doz:F lgw Gl @

5 jln 0 0315315 W o ) awl (gl (lodumn (sl oS wtwd elaiz] B )0 v/

Ylsgylal ) s dS ol o uSLOJ' 0 do> > (first) "....,L U“J9| " lie Y Jlgw &b ¢
| (D) 4055 razmio grawly 13

b Bgyma gl 3 b algl carzlB b)lo (20 el pausS v/

3l p)lol 4s 35 0lj 4 the last two months) ) le solopss 35 .(CraujS:A Jlgw fwl @
] JolS Jl> 0loj jS5Lis SiNCe U alod 45 ol Yl b 4 35 j1 9loj Do Jgb o 4S5

45 @S (50 (S pudl g (Sauns Gulws] Jud Gaed a3 .Cunl 0361 jlaw jul olo 93 (b )3 0y
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(ThePassive voice)

LT doyi dgaits 9 ylidluw : Jgexe Jlnd

1 diged :dlido sloiley 4o Joeo Jldl

<% the Passive voice

oles fpskro alox Jame e
odlwJl> | Hekeeps 550 459l | Heiskept 3948150 (5310 91 (51)
Syl Js | Heis keeping 3yls 0 &5 3)l5 9l | Heisbeing kept 394150 (531055 3,05 9l (3
odlwarindS | Hekept il 4S5 gl | Hewas kept L 5y gl 51
Silpoinnl 42isdS | Hewaskeeping cuily o a5 cuilsgl| Hewasbeingkept i e gyl 1050 culila of 31
Jo5J= | Hehaskept Cowl atils a5 41 | He has been kept Cowl 8y (5SS gl 51
JoS @l | Hehad kept 59 atil> a5 4l | He had been kept 3970 (5l 4131
sal | Hewillkeep culils anlgs 4S5 ol | He will be kept L Algd 6y of 51
sdil | Hemaykeep 5548l S gl | Hemaybekept 54 5yl ol ySan ol 31




GRS Ybj GSxdu slaygojl olug soliS slawy)lgo g Jguol

2 diged :alio sleilej 4o Joezo Jledl

< the Passive voice

olej potre dlox Jotro dlox
odlw J» | Hesees A 09l | Heisseen 39150 0493 4
&yl Ju | Helisseeing Lo 3yldgl | Heisbeingseen 3948140 53 3,15 o
odlw aibdS | Hesaw w59l | Hewasseen Lo gl
&)yl 43S | He was seeing oyl | Hewasbeing seen Al (o 0> il g
J5J | Hehasseen Cuwload gl | Hehasbeenseen Cowl %5 093 o
JoS a8 | Hehad seen 3gs04034) | Hehad beenseen 397 6uuk 8D ol
oxl | Hewillsee A ales ol | Hewillbeseen A J2led oud 4f
oxl | Hemaysee L Cowl ySee ol | He may be seen 3945 8405 Cowl (350 gl

Joaoze 9 pale willos dulie

bl SaS w155 o ¢ ) 4b5 30 Jgae g polno b Passive g Active pyd go b ol @
e 53 e 2 Jlebolan cdon 5l py8 95 ol & 5 55 - bloss Lo Syo 85 g 55l 5

..)5.30‘;0 O)qu‘

g oo ST canl 0013 plodil Jeld aS” slaylS as Active pyd 5l ooliwl b @

:Jlo yok

| speak English every day. S0 Cumo (Sl jo) o p0

| repaired the car. 0355 paas3 ) yaiile ¢yo

1\



(VERBS) J=8l //pgs Joasd

0,8 ST canl ods ploxil S’ o b 48 ¢4, lg3 o Passive JSi jlooliiwl b @

:JUo yoky

English is spoken here. Sgdize a3iS i sl ) (@) Ll j>

The car was repaired.

b pras 9,392 ol

313 Je s 15 & o (i coodl 00t ploxi] Jos ¢S sl ol Passive b Lol 3,15 @
395 505 53 Jeb L ins - dlon (61l 53 Jolb 1S3 & 65L5 4S sl (545 )3 caan ozl g
D¢ o0 03y9] with b by, in adlisl bys b ales slosl yo b

® My proposal was approved by university.
® The car was damaged by a truck.
® The shirts had been made in Iran.

® The forest was destroyed with fire.

:JUo yokay

W) Cogpald oKisls Ja.w}t“ o d‘)?;’ﬁ)"

0 ol (900lS S5 Lauogi 9395 (10

gy [ X W) 4.’.'.">9.> o')::l).) la O‘b‘)i‘&’ O,i

A oy il g JSas

tdtled ©dd Jopore 4 walre O Jliogodi & m

= Present simple

Active: My mother washes my clothes.

Passive: My clothes are washed by my mother.

%« Present continuous

49 Active: My mother is washing my clothes.

Passive: My clothes are being washed by my mother.

dlwJlo

Agdise ) palewld o)l

gl atunid 3o ungs ilguly

Ipoduwl Jl>

gdy 0 '} pglq,mU )}') P})ln

Digdi 5o i 1315 030 g3 @il (bl
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sl C85 Japome Gl 15 (o JWd] oo sl dosx 092 & @

® | was told the story. b a3sS (po @ lwls o
® You were told the story. A aasS o3 @ glwld T
® We were told the story. A aasS o o ¢yluwls of
® You were told the story. A aasS Leds @y by T
® They were told the story. b aasS T @ gluwls T

o &5 solul) ple colu! 31 8" the" Gy pai Gy e dodyi 55 Sl ply C82: S5 @
e 3940 00 o3 o b ool gixo 0 WIE (aitans 3,8 &y prio b
® The boys started to run toward the forest.

® The books are very difficult to understand.

Gl Szl B OIS (1l )5 355)5 iz Coaw @3 (293 @) Egpd o pums ()T @

sitlod C8 ud Jgpmo iles donyitgiui v @
1. New York is considered the most crowded city in U.S.
2. The pyramids were built nearly 5,000 years ago by the ancient Egyptians.
3. The restaurant was renovated in 2004.
4. The students were informed that the class had been cancelled.
5

. First the apples are picked, then they are cleaned, and finally they're packed
and shipped to the market.

)]

. New York is considered the most diverse city in the U.S.

~

. Hungarian is seen as one of the world’s most difficult languages to learn.

O pas bwgs iy Jus dooo 3gam 1ol @l (V) dgd 50 a3l 0 1zx50 OIL jei p S5 E oD 353615 ()
oS 116 > p gligel Gild T (F) .4 (gjlwgd Yoo Jlw 45 ¢lygiw) T () .01 aisle @8
(60 Gy 5T 3,31 9139050 105 (pudw ¢I39d (50 (_,._.eﬁl.m w2l Jol (B) 590 00 d.amSUnUS
S9is0 €39Sy )3 00T 43 yods 25 E9i3e olgic @ S)9008 (7) . Vgl Jo Ik @ 9 Wgdi 0

30 €383 5 13 (655 30 (sl B ) 025 JSii 1 (52 3yl L (V)

52
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(VERBS) J=8l //pgs Joasd

EXERCISE 1:

Complete the sentences with the correct form of the verbs.

1. The first modern Olympic series (hold) ...... in Athens in 1896.
2. The first Olympic Village (build) ...... for the Games in 1932.
3. The Olympic flag (fly) ........ for the first time in 1920.

Jsezo 4 4295 b (b jl .3yl o)Ll (in 1896) asuive 43S Oloj s (doc Aoz ) Jlgw gl @
g0 4 b M)fcmm JSb (first modem Olympic series) )le 039 3080 9 o> 039
.2bb (was held)

A S AAF Js 13 3T 3 40 Sasall (g pu pds) v/

25 b Bb .yl oylal (in1932) Hasuive 43S 0l s os 4 Ao e x> :F Jlgw Gl @
.Cawl (Was bUilt)i&g}f@mﬁ IS o> 0290 Jogomo 0

039 Usezo 4 4255 b 9 315 o)Ll Hasuin 43S Oloj > (o © doz jui Lxisl )3V Jlgw b @
-Cawl (Was flown) 4jS muouo JSib cdlo>

EXERCISE 2:

1. From 1896 to the present, the Olympic Games ...... every four years.
(A). were held B). have been held
(©). had been held (D). is being held
2. The new machine ...... three hours before it was broken.
A). Runs (B). had been running
(). Was running (D). has run
3. The musician ...... his performance by the time we got the seat.
(). Had already started (B). already started
(C). Has already started (D). Will have already started

4. The Icelandic language ...... very little over the past 800 years.
(4. is changed (B). has changed
(C). changes are (D). changing so



'\ (VERBS) LJLQ."-J| //fog_\ LJ-IL\S
| 4

EXERCISE 3:

1. When archeologists discovered the ruins of the Olympic Stadium, interest

in the Games .......
(A). was renewed (B). were renewed
(0). they were renewed (D). renewed

b (sbol) 0425 Ololue @) Bl 1535 @S |y Sasall pg23buwl (o Wiy b iwb 38y v

v (00kw 4238 ¢ylo 33 edyho Jgrmo JSib cunyd Busl) dib (b)) dydas . (A)
X (bl e il pae) s (Do (B)
x (el pais g 3L Jo ) w43 (slon )i o .(C)
x (b polee IS8 31 Loy i) 5123 (D)
2. The ancient Olympic Games ...... as amateur contests, but in time became
professional.
(). begun (B). began
(C). beginning (D). they began
B4 (glady> loj 35> Lol ddb Egpd (51ad ) pat SEluno plgicas il Sapoll sl jb v
X (28 syl loj B pow crowd b Jgaio pusl) 04 £ 95 -(A)
Y (o ) 3ECAIME s 7 o 8 ol ey k) 3 2 9
X (e casydls JSb D wl2) ad/s3)5 g9 -(C)
X (Bl Jelb) 53,5 £y ool -(D)

O E 9 O S £ 9 Cmmad Uggor0 9 podo (R0 93 s ,_gljbisls (begin) J=s 45 suolopiy s : iSs «

3. Winning first place in an event was the only glory in the ancient Games
because second and third places

(). did not recognize (B). are not recognized

(C). was not recognized (D). were not recognized

a5l Caaw) &3 105w § 093 801 1) 369 (53wl SlErluno > lx381 g5 aBluwe S0 43 Jol 850l (93,9T Cuws @y v/

X (Cunydb D Jod polao JSi) Jizd lids o3 Coponsy o . (A)
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(VERBS) J=8l //pgs Joasd

b0 (3513 )1,8) (Gliae d g (gARI0 0deld o Jad Sy LAY
L 00 (O lgd (S 3100 ool B L 38)5 )1,8) climo dy g 03 0ac B o Jod Sy Lil@

Transitive (gasio J=s) o313 18 Intransitive verb (oj3 J=5)
Lay Laid Laid laying Lie Lay Lain lying
J i8S | Jgrio gl Ll Ju i8S | Jarie gl Ll
® She laid the baby on the bed. (31> 518 b ol s sy |y azu gl )

® | was laying the blanket on the floor. (aiil3S we U polae jlis Gaej Soy |y giy aiibls)
® He lay on the bed for 2 hours yesterday. (S jly> i sg) Cuclw 93 joyd gl)
® | usually lie on the sofa. (eS8 o 313 Jao Sgy Ygano (o)
S Sl ol 3 453, (0 )15 4 o (055 £52) pagio b Li@ Jad nlss pogie I gl 1 455 @
1wl 13 g a0 4 ] Caomnnd duw g Cunntl DU B L Jd

Lie Jo  Lied wi Lied Jsxio pu!

® Don't lie to me! (5% 9y oo @)
® | hate lying. (p)iiio ;isS £g)> jl)
J=8lpg> JB 1= )09 0SS jho J=d b Jol JI 1> )0 doz popie 4 4255 bl Jlgw gl @

ol w3 (O 45 (olwly 2ib gihio pggio (ShIS oz b 5905 0 3litwl (33,5 )1,3
31518 Gul=T Gad Jlaid 53 @S oSl il 53 (5)b 5> Cunl 834iS j1)>  paz (6o, |yl

o 3litnl 36,5 )18 (slina b s 3l JU 51> 55 ahoz pogie 4 455 b oA lges Gy @
Jelb b 1. 3igdh (g0 53> C 3 B (5l 43 (ol bl (sihite pogio shI> dlo b orples
A4S 9 YIs jli jass paw S 4 Jed (2luls The fulfillment of all your dreams coowd 3yé0 dlo>
G| a0

Cg> Cawl Je b fulfillment 46JS 4L Cuny do> Jeld dreams 4odS 45 aulopisy cubs 14 @
los 422 o Ul 236180 Juad 4 s> g )3 yidey Olnsiogs

325b aaily glagl 395 ay 1ads S| cuwl agdags lad 9, 5> leid bg) pled Gazs v~
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{Infinitive) to b suas JSi ¢ (Gerund) pyding : JSuis aazo 9ylS W
09 g3 o5 Alox 0B (il (A5 9 ol Moz j2 ) 31 Je b a5Ls (gl dlox o 5
¢y as lyss Al (Gerund or Infinitive) ¢yhae JSb 4 o ld aSl Ko 39 g9y Jolb
‘_5‘)3 +D gl oAJ,gTs J 9 m_@@lﬁ) Ag duw g2 d,«&‘m J.a's.l‘.f:.o lbr;,.wl aiske 9 b)‘JJ u\.o)

el B (gam (lodlie & il S0

D9y )15 Sloj dig duw 31 33 Wilgits 5 Caunnd yloj A gdore (Reza) sl o3 Jlio dus yo &

® Reza was my best friend. @siS 392 (p0 Cawg3 (2362 L)
® Reza is my best friend. Jls o o g 32300 Uy
® Reza will be my best friend. 23T 292 wplgs (o Sy 023 LSy

9y )55 Sloj dig du 31 33 Wilgites 5 Caunnd o A Dgore pul Wile 35 yhuao @

® Running was my favorite sport. 392 ¢y BUE 3590 (D)9 RS
® Running is my favorite sport. ol cpo aBle 390 (B9 N9
® Running will be my favorite sport. 392 Bls5 ey ABUe 390 (B9 A9

e oalatwl Sloj sla dign dod ;) Llgie g cunl J2d ol JKb 23l 40 jhas 9> @
(tob)mg ..\4‘).5-) JSJZ‘: o J)S.m.o dxg 5:’ e ..)9))&9 alos> J.GLQ U'}"’"’ A.:'Q.’l.ﬁ u,;l).»l.u
55 o0zl alas y3 Jelb olyin 45lgine 53 52 &S sl ool

® Teaching is a difficult job. RO FEC W U REREyRT
® To teach is a difficult job. ol iz IS 53,5 ()43
® Running is my favorite sport. sl (o aBYe 3550 (4Bjj9 )93
® To run is my favorite sport. sl (p0 aBVe 3590 GDjy9 (193

ol Ldgd e 43 (tO b jduas 9 L) (slojed 00w dy o ) 45T

walrl jlelrge o 43 Je U ylgias Jxd 03w S 51 85Ul dy Capnsd : T 4S5

® To teaching is a difficult job. (hle)
® Teach is a difficult job. (&le)
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swold Jad Wi 9y Lil8y0 Slre

1. Stop

B\

31 S Cowd) (gxo ,81 g dInfinitive (pbixs JBW (43,5 2g) iz 5] Stop Jxé m
1394 (0 03&w| Gerund gz AL (555

® | stopped to call him. 0850 wla3 gl b 5 03,3 3895 ¢yo

® | stopped calling him. IS Cuwd ol b 39,5 yuled jl e

2. Try

G 33,5 olowial) (Fxo y51 g cInfinitive (i (I (3,5 2w) sxe S Try J=d m
139 o0 00wl Gerund pudzs AL (53,5

® Try to be quiet when you go to liberary. (05 =)

® | tried taking an aspirin but it didn't help. (0355 Caad (03,5 Olowial)

Sl ol Lol ‘loJ)SCMJIJOgMTn.(g Gpas o (sopme BlEliS @ 38y b pl)TaS S aw v

3. Mean

: 391 g0 o3LwlInfinitive Lpbdms o (oyidils Lad b iiils jsliie) dzel Mean Jxd m
® Sorry, | didn’t mean to upset you.
® | meant to call you before I left but | forgot.

S5 Lo @y (538 j1 J1B S @1idl> B (po @S sl 1) Laid oS (3915 ¢yl o auaB) 915 ¢l 1o 9B0 (1o aianlio v

.8 3L Lol @iy
1391 o0 83Likw] that clause b Gerund (s (b " (5315 Jxe "o oo 4,51 Lol @
® I'll have to catch the 7 am train, which means getting up at 5 am.

® If you take that job in London it means that you must travel for 2 hours.

0 3 1) Jed T 65 51 egdn o o O crelw LU e ¢l 65 g Ao V crelw b3 b oS 00120 (yo ¥ 7’6

@b ol 3 el 93 jo, 4 b a5 Cuwl (i (b S wlawl



e EGRECEC T EELEP PP R LEE R On the TOEFL® Test  «----------ooomomomommamaae

On the TOESL® Test

1. In some countries, octopuses and snails are considered being great
A B

delicacies to eat.
C D

2. Seahorses spend much of their time clung with their tails to
A B C

underwater plants.
D

3. Men and women in the Peace Corps work with people in developing
A B
countries to help them improving their living conditions.
C D

4. Many dyslexics have difficulty to remembering the sequence of
A B C
letters in a word and in distinguishing right from left.
D

5. A single-lens reflex camera allows a photographer seeing exactly
A B C

what the camera will photograph.
D

6. Viral infections are generally more difficult to treating than bacterial

A B C
infections.
D
7. The most widely used material for package consumer goods is
A B C D
cardboard.

8. In 1944 biologist Charles Michener devised a system for to classify

A B
the approximately 20,000 species of bees.
C D
9. Bathe in mineral water has long been believed to have beneficial
A B C
effects.



G5 Ybj GSxsu slaygejT eiug 3oliS slawy)lgo g Jguol

Smell :us Jod yroyks Vv
29 5155 (gl yoian] S &y L5195 g5 5 ! s Jxd Al (il b 005 99 glixe 4 81 5
Wi v (Sl pestnl L5195 g0 5 el (g3l)] Jd Wil (555 99 slimo 45 ST )
® |t smells like cough medicine. v AR (50 ddyuw (59l duis (593 0
® My mother is smelling the soup. / sl Dgaw 03)S g Jlo yo pyolo
(smells) obisline 4y Hyolo (lAE (g1 syl 30 9 dustuds dalllan Jgsdio Lo 45 U3S youai @
(smelling) 5 S35 311y 1AE gy o0 9 gy oo Suupons Loy day b Wi gy DSy 0 g by o
cansl (0l g0 2 (53,5529 Nyt 5y plie b Jol el 13 33 DSy 90 ol 0055 o

Sense / Feel :ws> J=d Caozdy ¥
Db g0 ooliwl "Feel” S’ o b wlas ) (g5 (53,8 81 )
WD 03 (§ylpesl pordo oyl b g 29 oo o0liiw] "Sense " S s |y Blasl L jlas 81y
® | was feeling her fingers on my hand.

® These shoes feel uncomfortable.

® | sensed something strange is happening.
Gl I &) Jlo )3 e Sz S @S 5o pulum] @ 03,5 o pus(iil) @i (9 | GEEASS] Gijle e
:(Sense) Jxd 5 coml JSb o olis [
® | can sense that something is wrong. Cand (o SO oS @iS ol wilg3 (o (po

® Paul has no common sense. )10 Giwyd S)3 g e

1wl U5 4o ol Jlrdl (5
sl ey Jolh g i gl 55 55 Sy g o0ty Koo b 15 Lo 03 ol Lol JLs
il L3 Jlebl gj a5

Controlled, operated, organized, planned, produced, played, amused, make,
programmed,concentrate, amused, build, helped, enjoy ........



4ol 93 51 JBlas whls (00 (5w 4 aigd 0 JS85 AalS aix b g0 oS jl wble @
I8 o )US 53 45 (SLelS 53 4 Ay Mgy Jolis o delS pppin B 4315 0 g o JuSis
Sy clayy Bops cchopal Boy> (ploids eloil ((Bylads lalS B ccubio ¢ Jab (ol 23500
Elar okind oSt slin ) (So aBly 30 ehlbis 1098 o JuSitd Jglite chylis (oon g ablio]
lor S el don (1o (g2 cditung dlox (gyal S Blod 4 4 g (line Blod s &5 (Jg ciiann
M lgine (ol clie S5 g WS (53 Ty dor b (5 Wil Jlad e S W i

Abb alsly Jyade b Jolb

Types of Phrases: eSSl gUsj yo Oyl glgsl
® Noun Phrase el Ol
® Verb Phrase EELRCH TIPS
® Infinitive Phrase Gykas Oyl
® Gerund Phrase Sshas pul Olile
® Prepositional Phrase alal By Olyle



GHSS Ybj GSxiy laygejl olg soliS slawy)lgo g Jguol

ol ohle
< Noun Phrases

ohle sl awnly gl &1y &l o o aiS 0 5L 1) el SO i o] wlile @
S a5 Lo paol g 09 ¢ ow] @llie Hlid Lo jo anil dndld Wilg o p (gomw]
13 3925 K00 enylie SO U (s Bys ¢ plois o ylodds eilalS A8 (o ) (Determiner)

L S st 1S5 09 Ll
<> Determiners:

® Possessive determiners (e.g., "my,” "our”, ...... ) (5ko)
® Demonstrative determiners (e.g., "this,” “those”,..) ((glo)Linl)
® Quantifiers (e.g., "many,” “some,” "two", ...... ) () Lais)
® [nterrogative adjectives (e.g., "which”, “what”, ....... ) (lnany2)
® Articles ("a,” “an,” “the") (< y25 Bg o)
® Modifiers (“old, heavy,... back, above, on, inside....") (& o 9 BAB)

ieles €35 ol b ) ity i &y o355 @

® | know the back streets.

® My brother owns two houses.

® This man has a nice smile, but he has iron teeth.
® Every man of courage is a man of his word.

® The best defense against the atom bomb is not to be there when it goes off.

Gz Lol 315 (L j 1) Sp0 ol @ 315 ail595 (40 3l 0 @ Lewlids o) Gl B LLS (o @
02502 @ .Cuwl (idy> 340 (el 300 4D @ ((Cawl Tz puw (3o @y iron teeth Zubiol ).cuwl
bl LT )5 jles] i 53 a5 Cunl gl (503 caas plp > EBS

104
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(Jl=d! + d8LSI LBgy0) ddLSI Bgyo U Jmd LuaSud eslasSyi s plez 09)S
< Fixed Verb Phrase

® Accountfor

® Adjustto

® Attachto

® Attribute to

® Believein

® Concentrateon
® Confined to

® Consist of

® Contributeto
® Coveredin/with
® Dealwith

® Dependon

® Devoteto

® Differ from

® Engagein

0992 Sz Jstua b Judo
0332 Sz b wline
4 §ud Juato

g0l S

@ il 53l

Sz 833 035 35,46

4 O dgdoxe

S ows LSas

Sz 30 Guald yud

3L oadsy

03,5 Co /s 9392 g2 10

4 Odg diwly
@ ool polais|
3 O0g Gigldie

BESELTIRIN

® Focuson

® |nsiston

® |nterfere with
® Leadto

® Name for/after
® Obtainfrom

® Overcome by
® Planon

® Protectfrom

® Referto

® Relyon

® Resultin

® Searchfor

® Withdraw from

ERz 89 05 35,4
2055 ol
T INNESRY

4 O e

bl 03,5 ©ulsS el
303l Sy
LosS ade

Sy Rl daliys

3 0s,S cblas

4 fals oylal
4035 4SS

D Odd yoie

Sy 035 gzt

O GupdS s

OlSo g loj dy bgiyo ddLSI Bgy

- Prepositions of time and place

03l Iy LgsT 3018 ot 45 Wituad ols 5lidy (slyld 0 5 loj 4 bgyye ddliol Bgp> m

S peplan Cooms ds i b lie 3l K6 G j3 w1 g loj ot y e A by L MIS 0
el 8 ) Sy e 40 Mg 00 ) S0 pasiie adliol Sy

® At

® On

®In

(7 joyabis jl paiiue gl @b b cacles

&G

G 0)lj® 989 39 Jwg Juabdgolo

olo s jg) L azad slojg,

110



(Sentences) o>

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

S 5L s b Ty Gyl T 32 JolS stuasls 45 Loallao sl o Eonms )3 @
Sbi 2 y0 sl odd S5 losiond 4 jlaler S )l ls & 008 S0 g o dlor
ey anbannls |y Jad g JEB oo 50 (gtuwl JBlas dler (S5l by g ()l by 4>
ol o Ol & ylis g0 0l
Bl ol il ol alox @i )US )31) de gomo ool Wl ceomd 93 ol 9929 90 5
Eﬂw orlpl bl anslo]) i g glite slial Wlgs oo dlor (g s dlor S (s3]
PS8 5 ledlie 4 clblas (0 i) sl e Job oy Jobb S5 Jols dlor S5 JS

® Albert came. .7 op

Jeld =8
® Albert came to school. ol awydo @ Ol
® Albert came to school and Sara saw him 303 1 gl [yl g ol awyde ay @l
® Albert who is my frind came to school. Aol awjdo ) Cal ¢ro Cuwgs a5 Ol

FoS| (5 ol A ST (5L 50 Ty Mo oty o (liol pne 1 @

(Simple Sentences) 03l Oz sl us @
(Compound Sentences) Sy Moz ip9d (s @

(Complex Sentences) oz Moz tpgw o5 @



B/

(Sentences)  las //p)lgz Juad

sy suad lalS jo (Punctuations) s)ldS dhii uslgd

(b= 8 el ool 5115 ik (g By GBS 9 (508 (5 930 (1> 3 oy el iy
Sy uley gl (Punctuations) gyl alai usled sl I« sy &o¥os 43

® Nevertheless
® Yet
@ Still

929 oxlb
392929 clb
392929 ol

® as a result AT D
® Hence 9ol eexln
® Also SR
® Besides 7YY
® Furthermore g5
® Otherwise flg
® Consequently A5 4

® Nonetheless 3429 oyl b
® However Jb 2 s dgag b

® Accordingly 4oy ccudyd paod

® Therefore ol
® Thus oyl
® likewise OpSRo
® In addition g5
©® Moreover g5
® Meanwhile Jb ey T
® Instead P9 5D

4 a2 gL oS nbl dlon 53 i3 by b g alon Sy bauwg b 1,5 Algie (o (b, 9ed 4050

)|)§ O&n Lld C:Lo.lsu,;' A 395 o d)‘fdw 0 ga &0 S ya 4 umggb

1059y 0 )54 i 42ulS F JB o (Punctuations) g dles 15 (658

® Mick was very tired; nevertheless, he went on walking.

® Mick was very tired, he ; nevertheless, went on walking.

® Mick was very tired. He ; nevertheless, went on walking.

® Mick was very tired, he went on walking ; nevertheless.

cul yody ol LIS'L § dhads ((semicolon = ;) :cwdle dw Jayy - (cad wlolS51 LS <
oo slodlio 0T o alais 48 ales (sl 53 Ko 39 oo 03l LS oi )] 51 dm g

® We plan to stay for another year, Peter is leaving now, however.

® She always meets her deadlines; furthermore, her work is good.

® Swimming here is against the rules; moreover, it's dangerous.



GRS Ybj GSxdu slaygojl olug soliS slawy)lgo g Jguol

B\

b Sz llos : pguw i

= Complex Sentenses

(Subordinate clause) gy dlos & ¢ (Main clause) 4l dlos G oSy 5l wlles ol m
WABb b SIS So b g (548 IS ons! 5SS Wilgine gy dlon g o0 JuSiS

Noun clause: wouw| HAS
(that, what, how...) b Jg0g0

) ) Adverb clause: TAVERIVL
Subordinate clause (because,although;if...) a8 SlelS

Adjectiv clause: widuo HAS
(who, which, where...) &y Jg0g0

:‘_JL’Lo [ )
® Michel didn't realize that Nancy was here. (ol 3YS)
Main clause noun clause
® The man took a vitamin pill because he had a cold. (3 NS)
Main clause adverb clause
® Tom walks to his office, which is located on Broadway. (Lo 3)S)
Main clause adjective clause

JolS y5b &0 s uad )3 (2 0ylg alor) L3S Comus 4> 98 ey dlax £.43 duw o guad 43 14257
A ualga Al o3 Silouo 4

oS b g silomS g5,
ple Lol (adgo culs, Qsdq,gl;ls Olxbno
9 0 Qg 0,2 Ugild g



77/

sl Gollas Jobb b aliseo (slo dix I b dlox (Lol 0S)) 51 (s olgie & Jo8
.ol (Number) b s3gs 3580 b gon Blod ds dlan G 50 Jelb g Jad oy (S lon (gl aisl

(202 o g J25) & 3 o> JS g (390 ot g J2B) 4 b S0 Js : IS (5056 o
)

Examples:

® The smallest virus enter cells in order to reproduce themselves.

933929 Bollad yralo 9 Jobb g Job (ot oS g (0 4 g0 oS oSS B9 o 4y > 4y S
A o @y o s e g JSi

® The smallest virus enters cells in order to reproduce itself.

S iS5 1) g B Sediz0 B Jolow 3lg puopg (25285 ¥



G5 Ybj GSxsu slaygejT eiug 3oliS slawy)lgo g Jguol

ol LT 31 sz 551 Lol cdguis g0 D3Lkus] 3pi0 d.d}’g.o.v.o (None/ None of) 4ulS j axs :5 4%

il g ol (NONE/OF) 1 iy (89 S5 Crjlony D900 83 Ll o o J2d lgis il o>
S (Sslis ] zoa b 3k Jxd 51 o3liiw]

® None of the garbage was taken away.

® None of the chairs were/was comfortable.

® None of the workers were/ was injured in the accident.

® None of the money has been used.

canl d3lm 53 L3551 SO zud @ . 05/395 col) b Jao jI SO zud @ L1656 030 (gl dbj zun @
2399 02 83Tl Joo jl Gz @ L5/

il g ol (rzg ST Lol 29y (50 315 & Dp0 sl g 20> ol o2 [NO) S 5l ay : 6 iS5
1 Jle .39 o0 D3LA] Zodr Liyguo 9 o Jrd
® No animal is as large as an elephant. it Jub Sy oS 4 wilga> zun

® No animals are larger than elephants. .aiiwg b s 31 385 Ollgas> I Sy zun

1l 50 Dy J28 v g ol o2 “TOTE than one” yle jlaxy: 7 4si

® More than one box is in the hallway. ol 3515 asem ol i

® More than one car was in the race. g2 aisluno > ailo o jl i

,‘Uad.édq;gv’,:gba;wMl@&aﬁ')@iowd&ﬁﬂ&the@ﬁég.:9@9:84:5.3
1o Dm0 J5Y o g d jui Sl oyl

® the blind (oblwt) @ the poor (1,39)
® the unemployed (0hs) @ theliving (OBu33)
® the deaf (OLlgat) @ the hungry (O8auw)S)
® thesick (Ohlw) @ thehandicapped (odsl=e)
® therich (Wlaxssys) @ thehomeless (Gl 154

® thedead (0850) @ thedisabled [GWNESS)



(Subject and Verb Agreement)Jcld L J=b &3 //posy Joad
Examples:

® Even the rich don't afford to pay such high taxes.
® The sick are in need of great help.

® The pious are loved by God.

® The industrious are almost always successful.

® The best are the most determined.

i 31 KaS 2 lizo ) laws @ . 15161 (630 j (s OWle iz a1y caclbiul ) Kiadg 5 i @
(L8245 @ .yiud FP90 aduad 1485 lbgS Claw ® . Jikud Wglis Gixe 390 ol Bjunp @

L 3iud (31)81) )25 s

Percent or Percentage?

AlS 51 B &S Jb> 15 Wl 0 ol 3as Sy (Z Sled b) Percent aolSjl Jud: 9 4isi )
g o0 3! oylows Olawo 3l Percentage

1l o) Zod Lyge0 4 Ssb (Percent & Percentage) SlolS 395 () @

Examples:

® Fifteen percent of the control group responded to treatment.
® More than 95 percent of the participants reported positive results.

® A large percentage of the people voted, but only 20 percent of the votes
counted.

315 Gl gloys a3 J S 09,3 jl o) 8355k @
L33,5 GinliS caio @l BAS Sy jl o> 10 I iy @

b inylads T 103 Yo lgis Lol (5313 g 30 | (3L Capuss ®
155



Z (W 0ylg aka>)
| ' (Clauses)

. o®
ooooooooooooooooooooooooooooooooooo

5 Sl Lo Blod & 098 duplio dlor b oS conl o4 JB ()90 3 o))y dlox L 53S0

9 U"' 05153 [PYIRETIWS J.Glﬁs Jad d‘)b? o.),,» Jalfj.))b O)'5 Alo.? 29 A.LQ.? R sd).o')f
S5 a5l 5 o JolS (oline Blod 4 33055 500 plins - (lime b Sitions > S
ol JolS clins Blodd 4y alas Lol s ( olins 0238 JolS) dla

hzled 8 o slo Jlo & I Syd 6l D

® Even though Ted knew the lessons, ....... e S0 |y B ()3 35 az S
® Since Max seldom talks about himself, ...... e Vjao Gy (D395 05> &) (uKe gz
® \When Maria arrives, ....... e ¢ Jun o bylo aSusBg0
® |f someone speaks to Lily, ........ e e 1S Cazuo (G b S S

Sgyme 1Sylo ;AL oylg dles (sla,Silis 4 (349 sleJlio 55 n(Conjunction) b &5 o elelSas o3
colio ;3 Sl S gogas )3 Wgpme I U S oS £ 9 lgins dliron LayS)lo JUS isun
28 wadlyd catno Jade @ygo & (Gdu

b 93 ey Olonsing Wl ke 5 Cannd JolS @35 1350 poluns] 039t B Jlbo gy 3455
133 L Silo 338 yguan: 45,,...»,.:wwlwwlywwbwsayml?owdmﬁai»ulﬁ
WS g0 T 2 3 S Iyl o ya gl 4s Since  If... Wb



GRS Ybj GSxdu slaygojl olug soliS slawy)lgo g Jguol
by o linofy 8. JolS dles ol 42

® Even though Ted knew the material, he failed the exam.
® Since Max seldom talks about himself, | didn't know he liked classical dance.
©® When Maria arrives, we will open the gifts.

® If someone speaks to Lily, she turns red.

3% slles Jlpls,n 0 @
.AiZus (Conjunction) ,Sylo 3 ywyail e lolS <)

.Aiiws (Subordinate clause) x5 b gy i S sl cuomd )

it JolS dlox L (Independent clause) Jiuws 335 (S, u.gT b cwond )

® Since Max seldom talks about himself, | didn't know he liked classical dance.

=5 ) (Subordinate clause) LS ale= (Independent cIause)

® If someone speaks to Lily, she turns red.

RN (U5 dloz)

Casuo (8395 3590 43 O 15 @ (e aS3g2 @ 8| l=ol )3 gl Cuwdld(so | ()3 Slgo 5 az S| @
Jo 1) B o duw) bjlo a5 (12850 ® .Cubl> Cuwgd 1) SawllS (1a5) gl &S Eruwdld 05 (ro 1S (50
D950 j08 (iS5 9l A5 Cuzuo G L S ST @ .35 sl

LSyl 335 JolS o b dols) 53 o 5 (25 (51 o a £l il gim s lie )5 @
A pudlgd L] g8 g o ol sla (Conjunction)l

1055 S L (5US) oyl ddo> glodl

< Types of Subordinate clauses

® Noun clauses ol sladls
® Adjective clauses o sladls’

® Adverb clauses Gl slasdls

1\
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(Clauses)(l o)lg alos) //ubianis Juad

13,5 g cw B & (Noun clause markers) oowl BySilo ;505 ¢195! m

Whom , Who , Which, That) : gl (o0 £l (gihmntys SladS' b 45 comwl (sLa3S .Y
(Where, Why, How, What, When, Whose , How many , How much
g g0 &gy (Whether/I) b S ousl (sl .Y

gl 0 g gy (That) b dS cowl (W3NS .Y

(o] SLa5US' L 3ylg dlo)

<% 1. Noun clauses

ol SaSilo b aS wis (oo S s ol alox 5 degerne i gl 4 ol slajdS m
sdled a5 103 (sledlio 4. 059 0 £900 (If, that ,What...) ui5le (Noun markers)

©® What he discovered, was important. 92 ago 35 @S gl azil
® People believed what he discovered. 35 @iS ol aS 1) azil 1555 9L 340
® We know that the world is round. Gl 33 plez a5 @wildo Lo
® | don’t know if they believed him. (a5 L)ails 49U gl @y 3T LT @ilse8 o

lor 5 )0 goul cylie b sl (230l comsl sla33S sl ool 31 &S (gyshailen @
(i o) Jymin b (gl ales 53 3ie) Jel6 o8l 3 silginn gonel (saglS sl e
Jod ol g 4 e (ad pbgy (sl bl dlox by b lal asilgie Soo eyl 4 .asb

ol ©nylie g 1 a8 cowl dlos JEB lgins (It) yroio 45 0iS oo ounlie Jlio oyl 43
tcuol o alan (Jel8) (iSols Lsows! 338 coled 5 5 0l 35S0l

® It was important. S92 ago of

® His discovery was important. 293 jago 9l S
ol Dol

® What he discovered, was important. 90 pgo 35 S gl azil

ol U



GRS Ybj GSxdu slaygojl olug soliS slawy)lgo g Jguol

R o Sl L 3ylg dlas
= 2. Adjective clauses

pbas ol Silo 338 51 solitnl b a8 w25 slojdS 51 S50 05,8 1 04,8 stdio (slajdS
oS loghs B0 .09 g0 £ 9y (J5090 o> S et Uy gl (g0 did s Jgo 90 yoloo
&S oy1 (45) So Lo (g8 by 30 &S gl 1yl bl 00 (45) gy b ) I 90 ymae J5lne
10 () 3l g Jud oS SlolS g5 4y a5 Sl )5 50 Lol iS g0 it oty Mo plo
et 0 323 50 ) Rl o 45 0,05 3525 (45) (3090 yrae 3l slisea ¢l

(Who,Whom, Whi ch, That, Whose, Where, When) (JJg0g0 yiloud S

o polaiblap S asb punb B34S laclSe g din haid 398 Jgoge plesjlplis 2 @

Frogo plad Example

Who Sheis the woman mv/vgrks at the bakery. (ul:,lé di3)
Whom The woman whom we met was the boss. (Jgnie h5)
Which The course which interests me is physics. (Jelb juis)
Which The sound which we heard sent a message. (Jonio i)

That The man thTatLvEs hired lives in that house. (e juis)

That The smoke t_@xgu see is from the hills. (Jgnio i)
Whose He sent a message whose meaning was clear. (o Jgo90)
Sl That is the valley where the tribe lived. (e Jyog0 13)
When That is the dayﬂrgve get there. (Sloy Jyog0 1u3)

1\
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(Clauses)(l o)lg alos) //ubianis Juad

g{_)}._aéwlon_\iot\.a“.csjyt\s(gll\iﬁl.)yugjjla._)))so@\ln|}9|¢\SUJJ'.MSL,4}6L,_J9J\U/)¢SLMIL,jjoln.b9l [ ]
9|‘WLDA¢30T}"|J*.'L_x._)u.ods(gbg).MSUAU’S_UJA.')V;C)T/)Lﬁplmlaggbﬁ.bbw)éwgﬁmaswlm.Cu.ul
.M}M@T‘\?l\gwlL’.ﬂj9¢oj9}OT‘J..J))SL’OL;_\.U0T}3(¢}+§6LM'G‘O})OT.)9?(}J)9}()ia._)l.'lml\s)l:lw).éwl._lg

T (Ahdo IS U Cudio Ligldi

ol 09,5 b sl o g3 523 (i3IS S ot ool o i o (5 &S’ (g skailon @
3N Lol (A8 o Lo g3y oo 9 A0 sy e o 9 Al g0 ol 31 LB il canl 095 4 uaaio
adlad g )10 (loj )90 53 b o g5y ool 155 0 50308 s 9 4] 0 o] 31 s 2o

hles e85 3 Jlte 4 disles 1)) eoleSbl ly...g

® The tall man who is coming is our teacher. .cuua Lo alse 1T (o 31> &S Gaily 18 2y0

. o NS

o SIS 40 (Jguoge silesd 95,5

9 camd muol HIST 51 5uSsla (o (Slo ¢ Joog0 « Jogrio « Jold) bpais &S 513 jid5 @
o6 55551 5ol b S et 5 gt 555 30 o 1S g0 ol o 5 ghailon
:Jle . wles a5 (Complex) alos S5 a1y 00w dlas 90 Llg5 o

® She is the women. She works at the bakery. (03w aloz g3)
N7
® She is the women who works at the bakery. (0oS1eS alaz )

.AJSU.o/lSU__!lg.'!U/) oS Cawl )] 9| ®

® This is a car. It moves fast. (3w alez 93)
N
® This is a car that moves fast. (0oS1eS alas )

.»chﬁp&,wéwlu@uwlo

SIS & Copnd 1 ¢ 50 Sl Jo IS 51 Jguogo b 0408 atio Sy gy (Jga0 90y :iSS
bl Ly B gl a3 el Lo

® This is a car. It moves fast. (Correct)
® This is a car that moves fast. (Correct)

® This is a topic that it interests me. (Incorrect)



e EGRECEC T EELEP PP R LEE R On the TOEFL® Test  «----------ooomomomommamaae

On the TOESL® Test

1. Pythons live in rugged tropical areas ...... heavy rainfall and
forests.

(). they have (B). that have

(C). where the (D). have

2. In 1880, George Eastman, ...... dry-plate manufacturer, introduced
the Kodak camera.
(A). who an American
(B). he was an American
(C). an American
(D). was an American

3. The thyroid gland ...... is located in the neck.
(A). where the hormone thyroxine is produced
B). where produced is the hormone thyroxine
(0). the hormone thyroxine is produced there
(D). at which is produced the hormone thyroxine

4. Dragonflies feed on a large variety of insects ...... catch in flight.
(4). in which they (B). which they
(O). there are to (D). there are a
5. According to legend, Betsy Ross was the woman ...... the first
American stars and stripes flag.
(A). whom she made (B). made
(C). who made (). and she made
6. Pumpkin seeds ...... protein and iron, are a popular snack.
(A). that (B). provide
(C). which (D). which provide
7. The spinal cord is a long, thick bundle of nerves ...... from the
brain to the lower part of the back.
(A). that runs (B). is running
(©). it runs (D). whom it runs
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8. George Pullman introduced a dining car ...... its own kitchen in
1868.
@). it had (B). that had
(0). that it had (D). which it had
9. Paper is made from cellulose fibers ...... in all cells.
(A). are (B). which are
(0. they are (D). which they are
10. The pepper plant bears a small, green berry ...... red as it ripens.
(4. which turns (B). turns
(0). it turns (D). that it turns

11. Quinine,...... , once used to cure malaria, was taken from the bark
of a South American tree, the cinchona.

(A). it is a famous drug

(B).is a famous drug

(©). a famous drug

(D). is a famous drug whose

12. The winners received a wreath ...... from the branches of the
sacred olive tree.

(A). made (B). was made

(0. making (D). to make
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G5 Ybj GSxsu slaygejT eiug 3oliS slawy)lgo g Jguol

(68 5o oyl dlo2)
< 3. (Adverb clauses)

o3 biteows! }‘ LY LS)}"O"’M le))lséy O:’l S (GIuB dh}%‘h}%)‘l &y u:’)}-l-g L0 g
dled angi d sledlie 4. 0950 , IS (Conjunction) s Sl SO b el

Conjunction

® \When Mike arrived , we opened the door.

Adverb clause Independent clause (Jarws alez)

Conjunction

©® We opened the door when Mike arrived.

Independent clause (Jaiws alez) Adverb clause

S9ang Jxd g JoBd Wb Lot (6B Syl 51 by el yd oo Alin o (Bgd sl Jlko 53 &S jglailed 1) 4
AL bl
lus Jius dlox 51 (COMMAa)LoLS Sy fawgd funtls Lol dlos 0UKS £ 408 (g8 SIS azeilis + T ST

i LolS 4 (555 394 23Lakw! (Independent clause) ;| uxs (Adverb clause) ,51 Jg 394

Boymo suusd siyS)le
< Adverbial Markers

(A). Adverbial Conjunctions (showing time): (;loj o2ind o Liu sla)S)le)

®as S35 ®once &S il

® after Soljlaw  ®@since &S 35

® by thetime S35 Otill &S Bs

® until S 36 ®when &S s

® before Sollds  ®whenever S @Bse o

® assoonas Splppeas @ While &S Lo

® aslongas & alole

® The people danced while the music played. 1510480 300 250 5b Kjoo Sl > 206

® We worked as long as we could. atalg (50 b oS selslo @35 50,5 Lo



207
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(B). Adverbial Conjunctions (showing manner): (S vainy Glaw)
® @as) S yshilon
® @asif / asthough) S 551 Sl yeS

® Betty looks as if something is wrong.

® The wind was cold yesterday as it had been all week long.

S99 aGad pla3 > 4 gkiled 393 3w jo 5 3L @ .Cuwd (a0 S, 5] aS quw o 4B @ E?
52 €390 pla )> 655 92 30 jo 2 K51 S awpao 5 @) (590 2 @

(C). Adverbial Conjunctions (showing cause): (Ju> 03y Liw)

® as, because, since S sz

® The program was canceled because the speaker was sick.

® Since credit cards are so convenient, people use them.

S 50 031esuwl g3T j1 03 40 < Miundd Cazl) (a6 )Ll (6le5)5'aS (yo2 @ 363 )é p0 013395 @S (y92 Add JauiS a0l @

(D). Adverbial Conjunctions (showing opposition): (>Los saiay L)

® although,though,eventhough) 4z S|

® (while,whereas) S Joys caz S|

Lgyeo )50 dlos bawg y0 a8 hud slayS)lo aulS5) L8 &S s dngite IS 0ue B SO lgie 4y 1) ST
sliay odind ylis g sbySilo oguas 13 Lol puiS o liiw] LolS 31 sl (Wi gy e i)

39 go 00l LolS 31 LosT 51 i el dlos Gyl 90 s 3liad ,S3bLosd &S Jyguo 53 L]

® Home prices continue to rise, even though sales are falling.

® | am very tall, whereas my wife is quite short.

® He doesn't have any money, although his parents are wealthy.
® Although helium is rare on Earth, it is common in the universe.

® Even though Ted knew the material, he failed the exam.
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(Clauses)(l o)lg alos) //ubianis Juad

"o ELRJUS” 49 D SLjUS : Juau o9l

el B> oy (a3 4y o o g (58 (SIS (Giluw ptiBeo 09 40 @
Example 1:

® After the spaceships landed on Mars, they sent back pictures. (B3> o)
® After landing on Mars, the spaceships sent back pictures. (Wi Jol al>po)

® Landing on Mars, the spaceships sent back pictures. (JolS Bis)

5308 (era0) @) 1y (5 2905 3T c1310T 398 (5 fidno (59 (2L (1> aisian oS (3ol jl a2 ¥/
it (Je 1 oo g ol CIB y3 A S1eail o (SO Al g gy 350 Jolb e ol dlar jo aS upiloyss e <

Example 2:

® Although the moon rocks were expensive to obtain, they provide valuable
information. (Bis 59)

® Although expensive to obtain, the moon rocks provide valuable
information. (s Jgl alopo)

® (Being) expensive to obtain, the moon rocks provide valuable information.
(JoS i)

S (50 el | (g aiad ) SleMbl T )13 (3L (b iy slo (sl 8400 (1391 Cawd @ az S| v

(09 3 & (3 335 Lo S

hol s B> (59) 68 U311 Jolb it (S il 5 5y WS Job Sl s cr s bi sl el o )0 @
i b alor )3 prad (iSil>

oS o B ]y (S8 JLbl wlitiie g prangi o 2 pgo ]y (ol Jabipgo dloye )0 @

oS o By (648 Jpoge ipo aloye 0 @

o) B Ty o elinn 093 Jlho Alo il to be Ala (ol Jab 5 5,003 ) 4655

135145 292§ (53l ptiee (Sl Al Cgliio Al g gy SIS Sl ST (o0 T iS5



(Countable Nouns) : Winylod BB oluwl .A

yeid g3 o ly lasT &S canis] ((Countable) [ibylais b olol ool Ciyxi

g 0 03liko] o )90 & o 9 3y g0 & o (yled S (ol @
..\.t),osudo (202 S) po> ;,Jlb)b uﬁ)l.o.& J.rlg k;ol.wl [
sl o The b an, a ciuyas s Lone iyleds aolS Loas Dydo gileds BB olulsl 8 @

Singular Plural

oneidea (¢ two ideas ol 93 - 0l S
oneshop ¢ many shops L 050 31 (5 Lo —0 k0 Sy
abook (¢ some books S gl - LS K
anegg & lotsof eggs £ 1o 055 60k s = o 055 S

:(Countable) islouds B oluwl 3590 50 g0 ISS «

oS ALo! -es b =8 oo & b 5k kel B ol Sy ctanny 02> gl -(A)
‘ abook oSS & some books oS glaws
* awatch el &7 twowatches cele g
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A 0S8 1 Oyguo A ¢ bl 3| (S men S .(B)

Man Men Ologe

Woman Women a3

Child Children a4

Foot Feet L

Tooth Teeth Lo OIS
® Fish o Lols /ol
® Sheep o JihwsS /dihwgS
® Salmon ST slasale /303 Lol
® Deer o 0355 /0355
® Buffalo PYN[EM
® Shrimp [PYA O
® Offspring OI5),8 sy Juwd
® Aircraft lo/loglsa
® Species lo/d56S
® Series Lo /Iy S 0520 o8

® The bicycle is a means of transport.

Sye JSi
Person
Mouse
Diagnosis
Criterion

Index

People pore
Mice ladrge
Diagnoses  sjasis
Criteria o S
Indices o pasls

sl (S T Byk0 g gon S olwl (B0 .(C)

® Premises
® Means

® Corps

® percent
® Trousers
® Mumps
® Jeans

® Shorts

® Scissors

® Glasses

a/ousld

alus /alws
OYgase/Jgase

(350 po JS)duoyd
(3y)5 3580 JS) ylglis
(3y)5 2 y80 K1) dug Cighe
(3,]4 350 JS0) uzylsls
(3105 3580 JS) Oryois
(35146 3500 JS) (28
(3] 3,0 JSb) Size

® The five human senses are our means of communication.

® A series of burglaries has been around the neighbourhood.

® What are your favourite TV series?

® A new species of bird has been discovered recently.

® More than 500 marine species have become extinct in the US.
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Sl ob; 0 Slave
Sl ub;y

&l gl 9 93yl
109 o0 yiiion b a8’ gy Ly Ay 9 WS o0 Lo g5 ) o] &S it SlolS wlio

0285295 © SS2eS o (i) X295 @
Q2PN 15 D P D (car)ab s e
Wﬁ%b}bu‘y&@ﬁbm(,&frpudwb)) D
(poeiel) 5 le © (o) ke o

(109gdol) j5 QLS © (pwl) QLS o
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® Little girl S=g3 a5
® Single man lgi5 3 0
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] g5 Sy g0 9 ol 1 o8 Sl i 9 S5 )18 iy m

0 CUaS = o)l = UK = o = Ky o cabo = W
hloydy a2 i o5 Jo &

® She had a beautiful small round black wooden box.
VN ajlul Ko 5, owiz
cuinls S265 55 (92 (sl amz Kl

1SS0 aatlad Slauo §1g3] oy 4 dold] 4o m
dolw Wilduo (A)

= Absolute Adjectives

(er/est) sl Liguo b 5 (More/The most) by Wi 51 G gt <))l wliaw ool S @

tduoled 80 3 olpdlio L duns
® Happy s @Tall uls @ wealthy Ay
® Beautiful L) ® Intelligent Sigals ® Curious SSeuS
® Soft £ ® Sharp 3 ® Nice e
® The violin is a small instrument. ol K268 aluwg SO (Jozg
Cdo ol
ddi ol (B)

= Comparative Adjectives

oS g0 03l s Lus 51 0l ooews 93 b 5 o 81 i IS8 50 2 Jgl Sl @
rhelod €85 ) sledlie b (@lalS Sgo il (SSE sl o b Lxs = C3w)

‘ <o+ er + (than j) ]

® Happier than slypss @ Sharper than BN
® Softer than ey ®wealthier than 3 pasde

® Taller than 3 suL @ Nicer than 3l g
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e b ol odds ad L MIQTASMa@OLli}lJ,B;@ﬁs‘_éP‘oalw,ltmgalg}43 m

IR W) Lf.&la 85@90 OaeR 9 Cowl c;sl.é.lo K> ] U«»)Lé L: w.lfu‘ ub) )° uu)a.? d”b éﬁ)lf
tduoled By 5 Jlie 4y aidl andls JSie Sl Gy yas CBgy 31 cannyd o3 Lzl 53 (g Lows

® There was a girl in the class. The girl was very sharp.

( 399 J92L b 355 T gy adundis (WS ;> (¢ 3> @ )

Joldles y3 g2 ) cawl odids did L pgd dlos 13 Lol cawl aid Ll sl G 553 Jgl dbos 0 @
By 3l g Mon j3 9 @ el b A Ll G pas By 51 Jgl dlos 50 1 (ol 0 iy Byo

dumloyd d i (cdas Jlio L ouiS 0 00latw] The yuro b ddpno Ciyyas
® Once upon a time, there lived a king. The king was very kind. One day, he

met an old man. The old man was very poor.

‘ O 3 1) 300,00 S0 9l o, S 1392 glyen (s olinsl o .3) (50 (S5 (52Lik /8oy sjoy @ ‘
4 392 289 (Slu& 300




GRS Ybj GSxdu slaygojl olug soliS slawy)lgo g Jguol

(The) (wvo i 35 O > P LS p,I5

hle b3 y0 o o a8 dlissl pare cyyes By 1 OLLE L WS anpo 3l JuB: Jsloacls @
g sy 8Ll Gyn b Jsoge srais 1 b Alolidl oS witun ol

® The man whom | told you about lives near here. (o jWS)
® He didn't like the movie that you suggested. (Gio jWS)
® He loved the dessert with chocolate and cherries. (8Ll ©)le)
® The phone on my desk belongs to Ken. (dLsl ©)lic)
® The History of the United States. (dLsl ©)le)
® The honesty of this boy is liked by all. (SLsl ©)le)

i Slol alhle by gbo oS suis (¥l cla cuond &
dr hle b agiS lawgs ol oyl . dituan (98 clylie ¢ 3305 ayoc a5l o S5 ol a8 ol )
510 gy By 5l g Mg oo bl D (ren 4 Wigh (0 hnogi 095 ]
© Uil Cwgd 1355 lgiin laid aS 1) alid ol @ 15 (50 (S5 (TP e )3 @isS lad s ol o)L)> aS (640 @

cdlue @ liJ_)ATbJQ:\AOyL)_I&JU. w‘éq@ﬂooo}_wggjuﬁgg.)yunu_.\fgomlg)w.)@:slcg‘
Gl e Jum 390 ) (o2

2l 42813 0yl] sl L eblgs ey go 5 LIS 05,5 S o Al o o ool 095 01515 @
oS Ol 325 JS ¥ & il o0y Lol &S

(A). The Definite Singular: ¢ Example: The lion is a strong animal.

(B). The Indefinite Singular: (s Example: A lion is a strong animal.

(€). The Indefinite Plural: = Example: Lions are strong animals.
...\39).3)[5&) g..a:»).:.? uﬁ).& U9 -\.u'jliuo é&#gol.w‘ w)fd.:;n.‘b ul,.‘:.:.o é}& b..\.Cl.;)l LSS D

(2o 23 B)m b 3580) 2 .Cunl 3103) 28 lgas SO yuid (a365) @
(aa5bdb i ye5 ) b djio) Y .l 103,35 glgsm o i o @
(@5 8)> g o) AiGwud (gIie5) I8 ©blgis b s ®

W\
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gy 30 &S Wi (p)les Jad) wSlolS willes 2819 45 (Conditionals) (bys wMes> m
s e g o £ gy" Lyt 5 51" psre b "When ,assoonas, if " uiile c43 slaySyle b el

@ |f you don't hurry, you will miss the train. 2350 Cawd I b8 ausS alze S
op jUS
® It melts when you heat ice. 239 (50 O S S 20 (S1) (389
op jUS
: obyi oo glgil ¥

I3 . ! rS

<%= Zero Conditional

If + ol Jbs aos = sl Jbs dlos D) 1 0 £ (b Slles L lw

If clause Main clause

b W candly g S Galis 4y 0)lil 4S5 o 00lisl s3yl50 (slys yio g b oyt U5l 3055 m
279 s . . oA . & . A & -

e &8 39y g0 )5 (Sloj yhuo £ 95 (bopl Cund (ol (B L pasd Sy 4 baype s )l e

bulyls & £ 9290 ol 29 0 95 Abirad uiSp S o ST Jlolgicds AR (59, Ao
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Gl a0 o aidS alon 1o e b elolS 4 walSS) 4L 4o (Parallel) (g3lg0 ylid b m
Sz g oy 0392 F b 5 J0ls) el pol ol oS Wit (o8 LSy Algho 9 5l L
dhd)b‘é-bmlﬁuobo)bc\l&?l‘ggob[p‘cw&mdﬁedlkl.ﬁyb@omeylgoxg;

ey oabled ogad il 53 yiion gl 4y dolal o aibb axsly PhLL (g5lge

() Silae wlaylis-Lu glssl <

B9 L PRVEJEN- PPN ) RUS] IIOPRTEI 95| PO vES MR ) T PRSP PL | N RT. L QT C S PO P

hls a8 witun SledS oiis gy (slacuomd ¢ o3 (sldlie yo . aial (IS« coyles ¢ jhuao sl ¢y iao

39 it ] ol Was cslolS dan Jol Jlio 13 . 0515 (530l,8 )l Ao b aissl oo (53lg0 i Lus
oot o0 & 23 301y (65190 yLid Lo pgus JLio 30 . ity s 00 W clalS don pgo Jlio

® Nouns: Vitamin C is destroyed by heat, storage, or exposure to air.

® Adjectives: The criticism that taking vitamin C supplements is a waste of

money is considered to be inaccurate and unwarranted by some.

&

295 @ Verbs: There is evidence that vitamin C prevents heart disease, speeds
wound healing, and helps gum disease.
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19l 50 DS Mo 5O 5 Lol Sl 5oz 4o s ilalS

® Verb form: Ll=s U
® Noun form: ol S
® Adjective form: e U
® Adverb form: Sud IS

sbyre & dold) )3 g go ab b Ladiguy b asigiey 1 saliel b b JIS81 51 Sy 0 5
el palys il slbigu

Verb Suffixes il Jud g (A)
Suffix Examples of verbs
-ate (s complicate, dominate, irritate 035 Kaym3 3l Blud 93,5 oduz
-en ¢ harden, soften, shorten 0355 0585 (13,5 o5 ey kb S
-ify ¢z beautify, clarify, identify 035 Rl S Blad (3,5 hyj
-ise/-ize (¢ economise, realize, industrialize 035 5320 (35 53 135 (52920 0



%= Part A. Inversion

b oo Jlgw JS plon b JeBL Jod slo a9 ( Sgyly el b ¢fyeil 1 yslae @
2 0o 3ylge 53 Lol 355 00 5138 Job s 9 Jo b Ml (sl o 55 (g3le 5o &
] gty S5l by 2,85 50 Jebbb o ool it e ol b gl (23 dls )lea)
3 193 g g Mo 131y (SS9l ISy ey glite g oy Ugaros g o 13 0yl (A
gl 0 (295w b Jold g Jad gl eIl il 4o
® Usual word order: You are using a computer. (Sps> ddoz)
® Inversion: Are You using a computer? (Jlgw dos)
W13 Ty dlos 95 i3S uake (S 1 oty SIS it ool TS0 4 jgaileod dles B : 4S5
1OFAUVES doxiuo gl Cloxud 99) Dgas o3 298 B g J2d sl Cls ool 45 kbl
® People believed what he discovered. 35S 5ol 3y e gl aS 1)y axil paye

+

313 @ Do you know where he is going? Dgyue 35 @y gl agilye LT
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Word Order //pasjuw Jood

u.a'.b_,bg ;Jl.ﬂél oy,lS bgu'.i)

- Reporting Verbs
SR (9358 203 oyl " popde 4 Aiuwn Jladl j| 29,8 (Reporting Verbs) ;I joliie m
5_99).&5 MJ:D).) - Jﬁ)g)ﬁ)ﬂ)b JL!LB‘U,}‘--\J)‘)‘) "...C}:«é;’w}b cob;)ﬁ ‘C)‘r"“:’b
oalaw! J}Q‘Du u}Lob ) Ul.é “;@)l)f ‘_Jl.'é' ‘L) ‘)B)KJ ) .JJHLNL;O PIEES ) ‘) LQJT O:’)J

gl o0
® Say ® Believe ® Think ® Expect
® Suppose ® Find ® Report ©® Assume
® Consider ® Know ® Show o tell
® Estimate ® Prove ® Claim ® Understand

L, 4 (That clause) L; (Infintive ) CJls 5 51 (S Jledl ol Jorore S0 51 dns 2480 @
P9
o (A) 1 Jeb + Jgeow sl ¥ S + infinitive
® He is expected to be in trouble.
® The shop is said to be offering huge discounts.

® The company is thought to have closed many years ago.

® He is believed to be in Afghanistan.

39850 3403 @ . B350 A3l (63 (b Casiixs 8jle ¢l 65 g0 aiiS @ .bL JKdno )l gl a5 g0y Uazi] @
Gl lawsledl )3 gl a5 Cunl ¢l p Slasel @ .Cunl 01 Jabe i B J CS b ol &S

51 e 41 plool Slis a5 (Many years ago) a8 ¢yle; bud 392 9 JuId & pgw Jlio yd 1 ds gl
.59 03] (to have closed ) JolS yuuae JSW 3 il (oiryl58 Jxd 51 i (bl g0 (3938 U Aol

Example test:

1. T have not heard any news about him. He ........... to be somewhere
in Russia.
(A). thought (B).is thought (©). have thought (D). thinks

oolitul Jogzmo JSib jI 1L sz abiB jl 2y ) da0 3929 9 alaz pogho a3 azg3 b (B) aiyjS : Jlgw gl @
33,5 (50 023 "394 (50 j5:a3" ©)9m0 3 Jegzo il )3 "Think " Job oS aabl asils pbs )5 opaiced .59
Gl aang) y3 (22 9l 39k (50 9405 ol 014k 9l jl (s 2 D 90 ¥
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B\

1 SLodiLdy dalS (350 yolyS crdlgaw Jol 590

(‘_,S..'I'oj.,,olo 9‘,‘»4&@4 IgeT ) qu)guis LUSLu.dl ‘0915 543‘3 PQ.LG)

1. Waitresses and waiters who serve ...... deserve at least a 20 percent tip.
(A).1n a courteous manner (B). courteously
(C). with courtesy in their manner (D). courteous
2. Famous for his punctuation, typography, and language, Edward Estlin
Cummings published his ...... collected poems in 1954.
(A). new innovations for (B). innovations in
(0). newly approached (D). innovations newly approached in
3. A perennial is ...... for more than two years, such as trees and shrubs.
(A). any plant that it continues to grow
(B). any plant it continuing to grow
(0). any plant that continues to grow
(D). any plant continues growth
4. Hummingbirds move their wings so rapid away that they appear
A B

to be hanging in the air.
C D

5. The idea of a submarine is an old ancient one, dating from as early as
A B

the fifteenth century when Drebbel made preliminary drawings.
C D

6. ...... ariver on land, an ocean current does not flow in a straight line.
&). Alike ®). Like
(©). Likewise D). Likely

7. A desert receives less than twenty-five ...... of rainfall every day.
(A). centimeter (B). a centimeter

(0). centimeters (D). of centimeters ‘
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8. It is generally believed that an M.B.A degree is good preparation for a career

(A). a business (B). business

(©). businesses (D). one business

9. A few tiles on Skylab were the only equipments that failed to perform well
A B C D
in outer space.

10. In a hot, sunny climate, man acclimatizes by eating less, drinking more
liquids, wearing lighter clothingand .......
(). skin changes that darken
). his skin is darken
(C). experiencing a darkening of the skin
(D). darkens his skin

(C)‘L&,j}f.)&.&lgkso))yls)g k;uuali)lul.}) uia)lii))gMW}))&:(A)g(B)@}?:ldl’» &b 2
kol Jledl jl sy &S 0g=>.(Redundancy) IV Juad slessl JolS Ol gi 51> fanSQ]LH JSino
(Vo dxu0) V¥ Juad . | S0 jui (D) 40jS 13 03 940 25 lisiaw| (5348 JSub 3oL

< iud (53405 20 plsl ) lghuw JBlaz 23S 0 o dS 4ibsg0 G@GTL;U& [UVEEFAEE P T {E YUVEE S A v

s 9 diuuds g 9 lizo @ INNOVALIONS 9 NEW 4olS 93 (D) 5 (A) 43S )5 . (B)4ijS ¥ Jlgws gl @
(©) 438 Ll &ygeo > (Redundancy) IV Juad slesl yo b ol Olxpogs . anlo pa JUS
<Cand 2l 9 pgeols 45 35,8 0 )8 e LS collected 9 approached  Jg=io Cuduo 95
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Part One. Multiple Choice Test

1

. With the passing of time and the encroachment of people, the habitat of

gorillas ...... to decrease.
(A). continuing

(B). which continue

(O). continues

(D). that it has continued

. With neither a naturally aggressive disposition ...... particularly large size,
the mimic octopus survives quite easily because of its natural adaptations.
(A).and a (B).nor a
(O). with its (D). or its

. From the inception of his long and distinguished career, Frank Lloyd

Wright was concerned with how ...... architecture with topography.
(A). integrating

®). did he integrate

(©). integrated

(D). to integrate

. The cheetah is a member of the feline family ...... are being drastically

reduced by in-breeding and lion predation.
(A). whose numbers

(B). those numbers

(O). that its numbers

(D). its numbers that

Ce he worked with the deaf for many years and patented many devices to

help them, Alexander Graham Bell will forever be remembered for
inventing the telephone.

(). Even though ). In spite of

(©). Despite (D). Nevertheless
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6. Economics ...... is known as an inexact science because it relies heavily on
variables and subjective judgments.
A).it (B). which
(O). that it (D). is what

7. Gifted though he was by remarkable natural musical talent,...... to have had
little knack for the necessities of social life at court.
(A). Mozart, who seemed
(B). Mozart seemed
(O). it was Mozart that seeming
(D). Mozart, seeming
8. onnn. found in forests can possess deadly toxicity is an element of folk
knowledge that has not been passed down to today’s general public.
). Those certain mushrooms
). Even though certain mushrooms
(©). Despite it, certain are the mushrooms
(D). That certain mushrooms
9. Most comets have two kinds of tails, one made up of dust,...... made up of
electrically charged particles called plasma.
(A). one another
(B). each other
(©). the other
(D). other ones
10. Schizophrenia, a behavioral disorder typified by a fundamental break with
reality, ...... by genetic predisposition, stress ,drugs, or infections.
(A). may be triggered
(B). may trigger
(C). may be triggering
(D). may have triggered
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. The guideline asserts that it is now necessary that every medical student

...... a mask in the clinical setting.
(A). to wear

(B). wears

(©).is wearing

(D). wear

I you, I would totally remove sugar from my diet,” the doctor said

to the diabetic patient.
»). will be

(B). were

(©). had been

(D). have been

. The newly founded company was doing badly;...... , it closed down.

(A). owing to
(B). since
(C). because of

(D). consequently

. Recent research findings indicate that the COVID-19 is more deadly in

people with obesity ...... they’re young.
(0. therefore

(B). even if

(0). because of

(D). due to

. The young scientist ...... in New Delhi, but her husband has just been

appointed there; so she doesn’t have any other choice.
(8. had better not to live

(B). would rather not live

(©). shouldn’t have lived

(D). mustn’t live
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6. A known Iranian company ...... to have been making a new brand of the
Covid-19 vaccine which can bring about long-lasting immunity.
(A). says
(A). is saying
(B). is said
(0). has said
7. The World Health Organization reports that more than one billion vaccine
doses ...... globally over the past few months.
(4). have been administered
(B). are being administered
(0). have administered
(D). are administered
8. According to the academic calendar of the university, the semester ......
next month.
»). will ending
®).end
(©). ending
(D). ends
9. If penicillin had not been discovered, many soldiers ...... in the First World
War
(). have died
B). were died
(©). would have died
(D). who would die
10. Doing an experiment in the lab, .......
(A). the microscope was broken by the technician
(B). the technician broke his microscope
(O). the technician’s microscope broke

(D). the microscope is being broken
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